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MODEL SET-1
Group-A History (gfasr) 3% (Marks): 20
f=ifed sgfamadia gedl § 9 w8 fdded I —

Choose the most appropriate options in the following multiple choice questions .

1. fage=™ ®e s gar ? 1
(i) 1887 (i) 1945
(iii)) 1873 (iv) 1950
When did Vietnam get independence ?
(i) 1887 (i1) 1945
(iii) 1873 (iv) 1950
2. WEICAT Tl Sf&T0T STih] | YIRd 6He d194 37y ?
(i) 1913 (i) 1919
(i) 1915 (iv) 1921
When did Hahatma Gandhi Return to India from South Africa ?
(i) 1913 (ii) 1919
(i) 1915 (iv) 1921
3. I gl B RATIAT o ROl 1
The Young Italy Was formed by ---------------—--—-
4. TN DUCHA BT AGD oo oy | 1

The Writer of Das Capital Was -------------mn---
=T Ul &1 SN 60 Weal H T |

Answer the following questions in 60 words .

5. Iegarg 1§ 2 3

What is nationalism ?

6. 3dCER Hifd W Yo G Are ford | 3
Write a brief note on October revolution.

7. Jolc ae & IR H AT T S 8 ? qUi a | 3

What do you mean by Rowlatt Act ? Describe.
=T Tedl &1 IR 120 g H T
Answer the following questions in 120 words.

8. 1929 30 & 3MAH Hhe & BNV &I IARAT BN | 7

Explain the Causes of economic cricis of 1929.




a v =

S<IRHTCl fd8™ (HISTORY)

(@) 1945
(M) 1915
AR
HTel AT
rgare fedl faRiy Wimfere, digfae a1 arfsre akder § Yg=drel
@ 919 AT Y TG & Sl IRIWR YH, HISIRT AR YebdT Dl AU el
g1 1789 30 B BRI Hifd 7 Igae I g IERT| FUfe”T B
JMBHAT F STl AR SHAT | ISEATE Dl ATGAT Bl TR fhar |
FRAPT 7 7 FT=R, 1979 30 DI USRS B oId WCIM, STHER, TADMA
@, 9, HIE Td YD 9a W AR B o | ofF 9 & Age
H GIRIfdd B WHR ©F H WIUd g5 | G delvsy & AJAR Ig e
25 IFCER, 1917 30 Bl g3 o | SAMIU P! yeay Hifd & A9 & Sff
ST ST & |
IRA ¥ PSR ARG R SR o & foly <mer e Ade ol
Jegerdl | U B Bl TS fbar war | A 7 e fa9y <grirerd 1fed
TR BT @ A7 | 59 Siid bl N @ @ [ Ay & ARwaR
far S wdar g &R Sfea W far S d@dar 21 W gaed & ol @
faeg ardicr A1 &7 fbar S Hepr o |
1929 S0 1 3fds HEHS! I FAQI HRUT Bl Td a&gall o1 3ifd
Jcured ol | Yo fdvagg & qre @rem=l & qod H R HH Y | AT
TEMl § US—TS T 8 ol |

g fdvagg & aRM SEfiie IdRl § 9fg g3 | NG SRIOHRI
TEl W& | J§ D FEI T QY IO IMILIHAT DI aRY WI g o |
Y favg ToTR menRa Uofl eraver wawq &1 T8 |

3R fded Hoiarar <o &9 FIM AT | 1927 30 & dI& IMHNHI
FTTIRT Fhe F 3 TS | Beld: SHRBT 7 0T <1 98 < &1 | 399
R B Refe fars 78 | 39 UoR e Hal &I JHAd 83 |




Group-B Geography (*iTie) 3% (Marks) :

fifehd agfaebedia ueal § & |l fdbed g —

Choose the most appropriate options in the following multiple choice questions .

9. UH Godl AT Bhd afl o7 ? 1
(1) 1987 (11) 1992
(i) 2002 (iv) 2001
When was the first Earth Summit held ?
(1) 1987 (11) 1992
(1) 2002 (iv) 2001
10.f98R # a1e] A STefie 2T &1 &1 F8d € °? 1
(i)  drelr f@g (i) feIRT @7 A8
Giy @R (iv) oiexTse fAg
What is the name given to sand mixed alluvial soil fourd in Bihar ?
(1) Sandy soil (1) Diara soil
(111)  Bangar (iv) Laterite soil

11, 98T oreg | Red w1 o7 gfcd & -

Fill in the blanks with appropriate words :

(i) TTIT AR DT oo 1S9 H IART B | 1
Nepal is situated in the --------------—-—- direction of India.

(i) BTl ST BT TERT A o © 1
Black soil is also called ---------------- .

12. 7991 Ue= T IR 60 &l H G - 3

Answer the following questions in 60 words .
fIER Td BN uu= 5T 8 Far ?
Bihar is an agriculturally properous state. Why ?
13. 191 U9 &1 IR 60 Wl H « ¢ 3
Answer the following questions in 60 words .
JHred Y@ w1 g ?
What are wntour lines ?
14.f74 U9 &1 IR 60 TRl H © 3
Answer the following questions in 60 words .
VPR & sl A9 TN T Ioord o |
Give three advantages of roadways .
15. 91%1 U39 &I I 120 Tkl H § ¢ 7
Answer the following questions in 120 words .

YRT ¥ BTl B IaR0T BT qoiT BV |

Describe the distuibution of coal in India.

20



34T
N % TR 9RA BT U AT A4 991y a2 F=faiRed & sraifad a
M sifda Iy |

Drow the outline map of India on full page and mark the following by shading :

(@) STelre ST &1 &=

(@) BICHNTYR TSR
(1) T T4
(8&) A IR MPER gode
(3) ORI 99 &A
(a) Area of alluvium soil
(b) Chhotanagpur plateau
(¢) Narmada river
(d) Andman and Nicobar islands
(e) Area of mangrove forest
AT
Bad AFsM BET & U ¢
Only for blind candidates :
IRA H HUN & IR IR TS Sled |

Describe cotton cultivation in India.

g s

SANHI AT (Answer)

. (b) 1992
(b) faaRT 37 g
.(1)#mawa%@ﬁ:wﬁmﬁ%%"l

fIER v o guH g 8 w@ife gqa dF—dens 4 oY &3 & siada
It 21 By & forg wEf &1 Ao 9eW ffd Suygad © | Sues: g,
IR Toarg qAT RHarE B AR gAd © | T8l kgl b AR Bl
9% 3R Bl Ol €1 §9 YR T8l IR TRE Bl ¥l d1g Sl g—9as,
T8N, &1 3R TRAT |

FE D ag B FHFIR GHM SHarsdrel I Bl Hedre @ e
N1 BEeTdl € | A= Sergal @ forg fafd=T e Y@ @i ol € S
U TR B B4l 21 dedl | Tdd FHled Y@ W a1y & e sifhd fby
SIT % |




14, FSHAN & o= o1 fFrfalad § —

() & 8% TR & Aol b YK 2 |

(i) 32 UBTS! gTal, o+ iR Foveredl © &g o W fdrel S Adhar § |

(i) FSB & M@ H URTET & A G, AN, argAN R TR |4
JER B I S |

15.1Rd # ®RIel & T &3 frefaliad § —

(i) SREe— IR, rRI, FIRSE, HUYRT IR IFATS | T8l I & Bl DI
HeR &1 27 vfrera gRIEM 2|

(i) BUNTe— RRARI, IR, fSrafiell, |Aere, e H As anfe | I8 <9
P DRI & I H YIH ©IF W g | J&I < BT 21 Ued e Ui
BT 2 |

(iii) 3NFEeT— TR Y IcUTeH & 2|

(iv) TERTSE— Tef, HIUST 3R dax |

(v) FegYee— RITRIEH, |BFTYR, S9RAT 3R Sifged |

(vi) Tfeam TMa— H&F &3 IENS & | SA%T &3 QIR © |




Group-C Political Science (RTSTiIfcr fa=sim)
3k (Marks): 17

rifdea agfdmedra uedl # 9 |8l fAded I+ |

Choose the most appropriate options in the following multiple choice questions .

16. b <91 H HUTHS ITA—TGRLAT F8] © 7 1
(®) ¥RT (@) 2T dPT
@ ameeferar (%) |YT I JHRBT
In which country Federal system does not exist ?
(a) India (b) Sri Lanka
(c) Ausralia (d) U.S.A.
17. T TS0 AR & fhae Wk © ? 1

(P) 2 (® 3 M 4 (= 5
How many levels are Panchayti Raj Institutions ?
(@ 2 (b)y 3 () 4 d 5
18. AR STl ARAMATHIU R U ofg fewofl forgd | 2

Mention a brief note on Woman empowerment.

=T gef &7 SR 60 Teal H ¢ ¢
Answer the following questions in 60 words .

19. XTSI o1 dlbad H I IeIH & ? 3
Why do we need political parties in democracy ?
20. TR SAlbaa ol faeryarail &1 qui o | 3

Describe the characteristics of Indian democracy.
T U9 &l IR 120 &l H S -
Answer the following questions in 120 words .

21.9Rd § g dUT IST] B HeY Heell TR YD1 ST | 7

Explain the relationship between centre and state in India.

SANHI AT (Answer)

16. (&) I il

17.(b) 3

18. AfET HIfGAHROT & 31ef & Sfiad & fafa= TR oI— IToHIfad, AmTTe,
anfelep ud utiRarRes Amal # Afgerail &1 Aera wrfar) gRfEd &R |

19. AHIfA® & diddd H 4 TBR ¥ MaTH & —



(i) = H IOTIId® Gl b UHE AXAT & ®Y H B B © | 39 (o]
TRHR BT A0 Hefy Fva 8 2 |

(ii) Spaa § OIS Sl SIAG AT § Hgdr e €

(ii)fUel g1 & T H WHR BN ATAHT TR G o F |

20. MR dldhas Ngrd Ud @8R gl 8l WX O o= dl & Ui Saxar 2|
Ig fdvg &1 99 §9T dldhdd & | RAY WA a1 Bl Alfeld B R
UG &Rl & | F21 @ Fatas gomel) fAvgaig g | 98l draAdi, Al vd
ST WE & fedl @ j&m & fau §aq w fey o @ €
gJrruiferdT | T @ favar s 2 |

21, YR Aida™ § ey el & d8d dws dl Joigd Rfd H 3@ T3 2 |
gl AT B Uik AR ARTHR Bl A0 @ BT YA fHIT TAT T |
Afda™ # B, I UG \@HeRN Al B A JMUBRI BT WL IR W
fToT= fobam Tam ® d1fs <avra ¥ 997 O 9@ | 9Rd H Uh ofd T a6
Bg Ud oAl B A T B IRBR BRI BRI Yol | TH9 A9y FHERT 9411
RET| 1990 0 & 14 Vo-ifad URGeT H Ikl URad+ 3MAT| HIUH &
T BH G| s oAl H AT Tl BT IqWd T | TTSEE F WA
RISTHIT &7 ARy & 7 &9 a7 2 |

Group-D Economics (312f3¥)
Ah (Marks): 17

ifhd agfadmedra el § W Fel Aoy g |

Choose the most appropriate options in the following multiple choice questions .

22 ¥IRT @ 3N rawer ¥ 1
(@)  GHISIAIGT (@) Yofrardl
an  fafa (&) $7H A BIg e |
The Indian economy system is
(a) Socialistic (b) Capitalistic
() Mixed (d) None of these
23. Roid d& i sfOsar &1 WIUAT o9 gs ? 1

(b) 1932 (W) 1934 (1) 1936 (&) 1938
When did Reserve Bank of India establish ?

(a) 1932 (b) 1934 (c¢) 1936 (d) 1938
= Ue9 &1 SR 20 @ H T

Answer the following questions in 20 words .

24, RA § AYLH LRI AT BT TUET e AR fFId g1 & 78 o ? 2

First of all when & by whom the national income was calculated in Indea ?



=T U9 &7 IR 60 Il H < |
Answer the following questions in 60 words .

25. FEAIT ASTAT BT IR BN | 3
Define microfinance system.
26. ASHIR UG HAT' Uh TR D RP & | DA 2 3

Employment and Services are complementary. How ?
T U T IR 120 Vel H |
Answer the following questions in 120 words .

27. 31 A &) 919 fd JeR P oIl & ? 7

How is done the measurement of ecomonic development ?

31y
g faferaq gomefl &1 HfSAEAT BT i BN |

Describe the difficulties of Barter system.

STANHI AT (Answer)

22. () fafa

23. (1) 1934

24 Rd H \AYAH 1T 3 Pl 0T 1868 0 W QIaT WIg ARMol o fdar
T | I7_IH 3UI IXdd “Poverty and Vn-British Rule in India” § 9 fdd arfi®
3T 20 ®YAT FATAT T |

25. GeAIT AT & §RT 14, BT AR [Fer 7 TR STwxads arll & @l
WEAl G & AH ¥ R ST BT Sl © | $99 B AN 0R &4
TST TR ARG J1TaT F0T bl GIAem Ua gl 2 |

26. 519 fdd 31U+ gRs™ Td Rel & MR TR Siaddiey @ fold a9 TahHa
FHAT § 3R Id 39 99 Bl Yol & ©U H FdeR (a1 Sar g 1Afq Sare-
@ &7 H 9w fHar Sar 8 a1 9an, ISR BT AR SaA1 81 9. | 3T
RISHTR 3R Hdl U G & R ¢ |

27.3ffe fAapra aavgd w9 | gRadd &1 ufthar 81 sHS HRUT SEhTA H
IS o Ud g afad amg # gfg g 2 |

i e @ 719 99 T 9aR 9 B Il 8 o~

(i) IS 3 (National Income)— XTI 3 I 3MMfYd fdbT BT Th UqE
AP AT ST €| fhdl <9 § U qy @l srafy H Searfed a1 avat ud
Hamell & HIfa® e & INT B I T HET T ¢ |

ORT <9 &7 I M T F AT &, I8 <9 [qBhd Hearal & 3R

fOTT T BT I 3T HH BT & I8 < AfAHRIT HEeAT & |




(ii)l;l'f%f fad 3y (Per Capile Income)— el faerT & 719 Hx1 & forg uf
FfFT M B T AT Fad AHT AT © |
AT M BT <Y B Gl odE& F IR T W S AWTHe O
BT 8, 98 ufd «afad o wgerrdn 2 |
ufq @fdd g = I Ay

Bl STHAA

e

awq fafes yomel # ffaled wfeAgat &1 ameT & usar & —

(i) SMETLHAT & QIEY TN BT IJHTa— 9 YoTell H T fdd & Ir_T Ul Il
B TR 9T T Jga—dgall PR T offh aedd § I8 =T 81 2§ |
(i) Hea @& AU® BT IFHE— 9 [ATH Gomell | el o & Hed DI A
BT 81 STH TP U B oM T gER T Bl g Al ST Usdl ©
i fhel a¥g @ dqcl fhail A1 H Y O] ol SN, Y8 ATeH Bl

HiS Bl © |

(iii)a¥g BT IR ST HicH— 9 UUITell H X & 98l 9¥g UG Bl oIl &
T IR B U HIAT HiSd & 9T & | HB dwqy Ul 81l & Sl Sleg
g % B drefl 8l 8 |

(iv)9fasr | rae dA H HfSAS— 59 Yomell # Hfasy #H 9EraE FEl fhar o
FHdT 2| A B Uh S8 A gAY SE ST ArEdl § dl 98 Bdd 984
JMILIH TR Bl & o S Fhal © |

Group-E Disaster Management (3Mu<T Y9e)
3k (Marks): 06

rifdea agfdmedra uedl # 9 |8l fAded I+ |

Choose the most appropriate options in the following multiple choice questions .

28. 38 B &F TEAT ¥ 31 g9ifad grar g ? 1
(®) DR IR IIRIES @) ST SR gy
@ FRES ) AIueE
Which region is more effected by landslides ?
(a) Kashmir and Uttarkhand (b) Odisha and Andhra Pradesh

(c) Jharkhand (d) Madhya Pradesh



29. BIGT H 91 3 BT RIT BRI g 2 1

(@) 3D auf (@) fRurae & 9% &1 e
@M eI H AT AT IR L

What is/are the reason/reasons responsible for flood in Kosi river ?

(a) Heavy rainfall (b) Melting of glaciers in Himalayas
(c) Silt deposition in river bottom (d) All of these.

30. AT ¥ 37U T FASK & ? G I ga1d B oy Ul &1 9o | 4

What do you mean by Tsunami ? Describe the protective steps of Tsunami.

S<INHATAT (Answer)

28. () IR 3R IIRES

29. (9) g4 w1

30. AT T Urdpfcleh SMUYST & | I8 Ueh WU ¥ed & Ol &l ¥eal F 9 (Tso)
IR AR (nami) & 7 T G BT 4 € T"IE UG A BT 7 T AN |
T e’ B UE e A Bl @ e gRvM Wwu 9gg ¥ Ol
Igd g A 9 ¢ @ IR fawenfid gm § | gARl oEx |gsad 0
3MATel ™ UG SaTer ! favpie & BRY S~ 8l 2 |

(i) deadl &= # geRmor

(ii) SUTEl & IUINT A FAMT BT AT g7 DI FaAgT BT AT |

(iii)7THTH BT YHU AR FAFEREN HT ARG |




MODEL SET-2

Group-A History (gfasr) 3% (Marks): 20

f=ifed sgfasaia gedl § 9 981 eed I —

Choose the most appropriate options in the following multiple choice questions .

1. PTel HIG I ST el g3l o ?

(@) TS () S
M gl (8 ©d
Where was Carl Marx born ?
(a) England (b) Germany
(c) Italy (d) Russia
2. WIS T & 3eTe B o ?
@) e TSI R0 (@) Aol 8%
My AT Tfefl (&) fRreNeT e
Who was the president of Swaraj Party ?
(a) Lala Lajpat Ray (b) Motilal Nehru
() Mahatma Gandhi (d) Chitaranjan Das
3. QAT FHSIAT ... 30 H BRAT |
The Poona pact was held on -------------- A.D.
4. T SfOTBT BT GG ................. SN [HAT AT

Young India was composed by ------------ .
¥ geAl &1 IR 60 Tl H T |
Answer the following questions in 60 words .
5. STl @ THIBROT H AR B JADT W) oy fewo ford |
Write a short note on the role of Mazzini in the unification of Italy.
6. ISl TN W U fewofl ford |
Write a note on the Dandi March.
7. STERHROT 3 319 R FHA B 7
What do you understand by Industrialisation ?

= oA &1 SN 120 T H T

Answer the following questions in 120 words.

8. faua™ & wWdzar SU™ # 8 o O & INTeE &1 9ui o |

Describe the contribution of Ho chi minh in the freedom movement of Vietnam.

arerar

1

ARATG IR 3_rerd H U &I 9T Td J9Ta IR UhTe St |

Explain the role and effect of press in Indian National Movement.



S<IRHTCl fd8™ (HISTORY)

31. (@) SHAT

32. (9) oo g9

33.1932

34, WETHT TTell

35 AT T AAMfd, QrRifS, Aifd@eRr R U b1 gHde o1 98
rgarfedl & W BEEART B Faxg AT| 1831 $0 H WG AT gl
AT & ARGH 9 AUl SColl & UBIBRU Bl YA fhar | ared Uede iR
UIT B I8 I g8 AHe I8T | A HISA DI SSAT ¥ YA BRAT UST |

36. HETCHT TTell = 12 4T, 1930 &I 310+ 78 fAvera WedIfial & @rer <<t aran
URY Bl | Tg T AIERAT IMSH ¥ SIS dd 240 Hidd DI 0 24 A7 H
QI 5 | 59 AT Bl S50 TGS D UM F THD FATBY THD BT Dl 9T
BT AT | SHD T & HATT M=l URA 8 TAT| < & fafa=1 Wi #
THH BIA Arehr AAIE URH fbar 737 |

37. ATERMHROT U QT Uihar g o awgeil &1 Iared a¢ U oR A/l
NI BREMI H BIdT & | 394 Yoil 799, Sear diel, SUDRU, 519 Ud dolR
@ "EdgUl YT Bl | SiERaRu P gwend 1891 Hal & IRIE W
$Telve # garr| RufTr OFfl, TS ved, UTaRed, AU ofF, 9 goid |
SHH HAE@YUl INTe 3|

38. 81 9l A= &1 O U [Fel9 uRarR H 19 #g, 1890 &I §IAT| IHDI IMRIHh
fR1eT #eep! | 8% | 98 |rgdrel foaRYURT ¥ Drh! gqTfad o | IE 1930 20
H faff=1 Irgardl el @l Uhdidg BN fagd= R urdl &1 T o |
98 B9 & f0vg IReel S ¥ & oSl WT| 1940 30 H UM §RI
fId ™ W ARHR B & Ugar BE B a¥g B SuE & fAeg TReel
JE URM B TAT| 1945 0 H BAlg DI Siia-l H A%ol 87| fduad &l
TS EIfYd T T &R sHS Jiedel 9 B ° A |

perer
ARG U9 A RGO ST <l & AW Udl &l e %9 9o
grfad fbar | U = fadrer 9 @1 eHnr) Hifcdl @1 uaiwrer fhar| fader
TGS Bl Fedly DI WA Sl & A 3T |
A= AAraR—u=l 7 g9 ehraE, died WRd B e gasn ®

fAff=1 vell @I ST & A IOFR fhar | YRA™ G goRa! 7 U9 &




®M AT | MRAT I T SASh WeR @ fawg gFare fafi= srsre ®
SHAT B! AEER 999 & forg uRd fosam |

IRA U9 9 Rg-—qacMEl & A Udhal @IUd &)= & G
T | Tl IR BT UpdT B G § dreE, FU6l b Teg e b forw
S o [Aeid R | U A Aeayul s fdar |

Group-B Geography (*31id) #h (Marks): 20

fiferd sgfamaia uedl § 9 98 eed g9 —

Choose the most appropriate options in the following multiple choice questions .

9. fIeq YR 399 wa AR ST © 7 1
(® 5[ (@) 5 Jeils
M 6 3T (%) 13 ST
When is the “World Environment Day’ celebrated ?
(a) 5 June (b) 5 July
(c) 11 June (d) 13 July
10. PSR T S g Iog & Ryg g ? 1
(B) TINES (@) IH
T TEuQe () BACH
Kaziranga national park is located in which stata of India ?
(a) Uttarakhand (b) Assam
(c) Andhra Pradesh (d) Karnataka

11,981 ¥eg 9 Rad el &1 g &

Fill in the blanks with appropriate words :

(i) AT SENT BT BT ATA oo = 1
————————————— is used as raw material in cement industry.

(i) Se—ScTes & fore wRa # ... I 9RIg B 1
————————————— state of India is famous for its jute production.

12.f9741 U9 &1 IR 60 WeRT H © 3

Answer the following questions in 60 words .

f9grR # IFivr SAEw @ e § R sHuen ¥ e gfg g8 B
$HED A HRUN B ook N |

There is more increase in urban population than rural population in Bihar. Give any three

reasons in support of this statement.
13.f7741 U9 &1 IR 60 WeRT H © 3
Answer the following questions in 60 words .

TEUNT—IATIT DI YHIIT HRdrel I BRBT bl gof B |

Explain any three fachors which effect the location of industries.




14.

15.

g U9 &1 ST 60 eal H < 3
Answer the following questions in 60 words .

THreg NG STEd U R & 999 9 fafer g | d ?
Contour lines are the best method to show relaief. How ?

=1 U &1 SR 120 wEi A < 7
Answer the following questions in 120 words .

Jgqa g Tq! 91c! uRATTARI | EHdiel ot AT BT BT g0 B |

Describe the advantages and disadvantages of multi-purpose river vallay projects.

aferdr
R U8 GR YRd BT G AFIE 9978y qr Heferfad @1 sifbd #Iferg |
(@) Prell 18T BT &

Drow the outline map of India on full page and mark the following by indicating the
place.
(f) Arca of black soil
(g) Mahanadi river
(h) Lakshadweep is land
(1) Corbet National park
(j) Tropical evergreen Forest
AT
B TR BEl B T
Only for blind candidates :
JEAN— o} fHE UhR g9IiaroT UguoT 98 ©§ °

Describe how manufachering industuies cause environmental pollution.




SAYHTAT (Answer)

39.(P) 5
40. (9) a1
41. (i) ¥He SENT &I BeaMlel FAURR ¢ |

(ii) Sle—sdred & forg wRa ¥ ul¥=d e I uRig B |

42.f98R # UEOT SR @I gl H R o HoafRe 9fg &
fferRaa sRor 2

(i) Rrem & fou waie whe, diets

(i) ISR & TaTd AT

(iii) e, ReT Ud o=y wredl gfawmil o uiftd

43. STRT—IATIF BT FITAT HRaTel A BREb (FfeIRad & —

(i) ®ead AT B TIft

(ii) AT BT Gfaer

(iii)gToTR

44. FHITE V@Y ST UG R B Had WX Ay ® aaife —

(i) ST NI BT SAS—TE BT FEI—8! I U Bl © |

(ii)geH TTpfae TRfadl B |El wu I uelRid fbar S dadr 2|

(iii)UgTe, USR, FarEre], Sayurd AT faf= UeR @1 g & HelMiia fe@mr
ST 6T & |

45. IE3]QYY AL URITSAIST A BlHdrel o frfalad € —

(i) ST ferg=oT

(i) STer faggd SeTe=

(i)l g7 RaTs @ e

(iv)AET &1 FHeE AdH

(v) Wiedl & forg ey dvg g9 |

IESqaYd ARl yRASHRI | FrEfaiad s el 8 —

(i) MPY BT WA 93 I 2 |

(ii) ST # <Taorar &1 deAT |

(ii)fRATYT B AHRIT |




v & W o e




Group-C Political Science (RTSTiIfcr fa=sim)
3h (Marks): 17

ifea agfdmedra uedl # 9 |l fAded T+ |

Choose the most appropriate options in the following multiple choice questions .

16. 70Tl H lbaa BT g RATYAT He g3 7 1
(@) 2005 () 2006
(M 2003 (%1) 2010
When did democracy re-established in Nepal ?
(@ 2005 (b) 2006
(©) 2003 (d) 2010
17. RT 1 TG HHAISTDH FAIT RIT § 2 1
(@) SIfade (@) wNTEs
@M AYGRIER CIERLRSL
What is the main social problem in Indea ?
(a) Racism (b) -
(c) Communalism (d) All of these
=T Tedl &1 IR 20 eaT H § - 2

Answer the following questions in 20 words .
18. STHYY & &I U&il Pl Icoid B |
Write the two aspects of popular struggles.
=T gl &1 IR 60 el H T - 3
Answer the following questions in 60 words .
19. fFIU®! J_Tel= R®IT 3R Pal garr ?
Why and where Chipko movement started ?
20.MIRT # HT B ATEGRI | ST T FHERT € °
What do you mean by power sharing in India ?
=T gl &1 IR 120 weal H T 7
Answer the following questions in 120 words .

21.9RT H AT BT f[Ib~=IhroT =} MaeId & 7

Why is it necessary for decentralization in India ?




SAYHTAT (Answer)

46. (d) 2006

47. (8) 34 9

48. STHEY @ & U8 8— APRIHD Ud THRIHAS | oHIdd Ud NS WY
W AT gRIEAT DI G PR Bl IGavy WHRIHD © | Id" gqeel &
feg ITEAf &1 WIT FPRIHS & |

49, U] STl 1970 & qUH H G IIRIEUS Uil H UR™ gAT|
JT<Iel & YUl grax ool 9g 0 & | Ig Ugiarvr el & fore fhar
TR AT| STl H AGATRIG AER W gell &l dhelg & Ry § I8
_re fovar war| Tiigarel faeryex wfgemsii 4 gefi 9 fRigs wr Ul @l
T B |

50. VST IR & ¥ITRIT & forv O & IEERl Masdsd €| 9Rd |
faf= wmrfore 998l @ 9 sifwafad ud ggad & forg 9 &1 favres
g B | AT § ATEIER MUl THhNid | g99 @ forg ol smavdd & S
2 |

51. MR Qe faurel i3 <2 ¢ | el fafderar § gapdr =Rl 3R gftei=r
BT 2| YRA™ Ifde § I & 39 wR R faurforg fear mar 2— @,
RISg TAT I @A | ds Ud 3] & d1 ] bl gqdhaoyo] W
AR W fhar T 2| D Gl & A b bl WATRIdl B, I9G GAl b
e ST T € | I W B 99 & I @1 AT 8 | U310
&3 H BT B B [0 deg Td T WA ¢ | IEfed & ATID AT Bl
<@ g BR DI [REIRIGR U 2 |

Group-D Economics (3refemen)
A (Marks) : 17

ifed gfdmadra ool § 9 98! fdded g |

Choose the most appropriate options in the following multiple choice questions .

22.9Rd ¥ o<y a9 @er SaT ® ? 1
(@) 1 S | 31 fegmsR d@ (@) 1 IS I 30 9A qF
A 1 WA | 31 7 TP (& 1 RIaw=R 3 31 =T d&

The period of financial year of India is
(a) From 1st January to 31st December (b) From Ist July to 30th June



(c) From Ist April to 31st March (d) From 1st September to 31st August
23. JIGIHIOT T Nef 8- 1
(@) faash Ot va e w® e
(@) AR, Yofl, THAId SR, a1 YaT8 g1 Q9 &I efagawen &1 fawa
rfeTavel & A1 WHaY
@) ERBRIGRY Bl YAl DI g1
(&) oI W 9|
The Meaning of Globalisation is
(a) To check the foreign capital and Invetment
(b) Co-ordination of country economy to world economy by trade capital, technology

transfer & information flow
(c) To increase the process of nationalization  (d) All of these

=T Ue9 BT IR 20 T H T |
Answer the following questions in 20 words .
24. J1eferawer fd dEd & ? 2
What is economy ?
=1 U &7 IR 60 ¥Rl H < |

Answer the following questions in 60 words .

25. 311 BT KT & AT T [ © ? 3
What is the relation between income and poverty ?
26. difge fafa gomelt @=m € 2 3

What is monetary system ?
=T U &7 IR 120 W@l H T |
Answer the following questions in 120 words .
27.RA WPHR & RI ISR Gold & o7 DIF—dIF ¥ SRIHH FAY ST 32
g 7 7

What are the programmes being executed by the Govt of India ?

3rerat
SO HREUT B IRBR GRT ST AT YUITeAT BT gl P |

Describe the Judicial process constituted by the Govt for the consumers protection.



SAYHTAT (Answer)

52. (1) 1 3 & 31 A dB

53. (@) AR, USll, ol SRy, Il a8 gNT <9 Bl ffeaser &l

fawq erelegeRen & W FH<Y

54. JJIRAT TH YT oA & ords sriia faf= yaR &1 anfdies fsamd &
STl 8 dT ST §RT AlRT 370+ MTeIHATAT dl FJE B 2 |

55. ATATAC: 3 & AR WR 8l AN Bl MR Ud T 3 § dfer Sirar 2|
AT BH B & BRUT d AU FAqH AGLIDAl bl AT GRT B H T4
TEl B T 39U URUTIE®Y 99 $HH Bl 2| 99d BH B B BRI
fafarT +ff &9 gar & e §=3 fEior & ) 9 el 21 O fmir
B X BH B A U IfAT 3T N BH U BT £ 39 aNE | TN B
qh Ferdl Y& ¢ |

56. Aifads faf~ma yomell § 749 & AMIINS Ud GRS Sigd &1 [Tl
qGT & ARIH BT 8| §9 YOl § Ugel P Afdd MU avg am |ar
JEPR HaT UT BT © AR BR IH JaT A (U AEqLIHBAT BT 3 IR
RIEd 2 | Yfd 39 Uomel! H qar A & Areg| o1 SR Sl 8 g4iely
9 Hifgw g gomel ®ed €1

57. YR WRHR & gRI IR Gord & oy F=foRad srisH @y S
RE® -

(i) L T ISR BIAHA— §H BRIHH DI FHIMT 1980 S0 H @I TS |
D] G I ¥ NSHR & ae’i § gig dom grior el & ameRr &
R H gRadd dIAT o |

(ii) THIOT FaT WRISAIR  URTET0T BRivA— 1979 S0 H U7 Jar av &
RISATRT Bl R DA & 10 Ig BRIHA Tl 71| $HD daq gaT avf &l
fafr= gorR @ ST & T, e gRT 98 WRISHTR &R 9 |

(iii)TTHToT AR ISR TTRUST BRIHH— I8 HRIHH 1983 S0 H YR fHar
TAT B | 9 BRIGA B IGeeT S a7 AfFHEH 8, % ISR UG HeAl
AT |

(iv)STarE’ ASHTR AINHI— HRd IRAR - 1989 30 H I JHI ISHIR
SHRIHH Yd ITHI0T YAZE ISR RS HRIHGH b AATHY STy IR
AT Bl U™ o |

(v) B @ TGl 3Gl BRIHH— 3H BIUBHH DI YHIIT 2004 S0 H Bl TS |
gD IGQ¥T R Id ISR & Goid Bl GG AT | 39D Ifid Aolge




BT RIATH 25 % 9N BT YA qha R H 3R AY FoIgY S & w4 4
& I 2 |

(vi)IETT T SRR RS TIGTI— §9 BIRIHH &I YWIATT 2006 50 H &I
T | 39 AT & d8q Fafg et # g &5 § ude 9RaR & Us
e B a9 H BH F HH 100 a7 JHIA 4 dTel ASHIR Pl TRUST &
TE B

arerar

IO AREUT SfAIH 19867 & T8 SUHIGIRN DI Rl & THREI
3ferdT IuHTad—fdaral & fUeR 8 WRHR g§RT BPRaNT ag=ariie ayave
H T3 T S Ffoiad © —

(i) fSTem wR W) e Jor (BRE)— S fHE a%g a1 HaT BT HoF 20 ARG 9
@9 T o Swa aael Rerd fRem Fw ¥ ool wwr |@ed g1 af
IUFTEIT DI ST =g el 8, SHd Hde T8 8 O IS JMANT H AT o
ST HHT & |

(i) 9T TR W T KR AN — o9 (U a%g a1 9a1 49 20 o 9
YW AR 1 PIS & A 8 dl SYAIGAT -1 FBrprad Iy AT | gol
I D 2 |

()T WR UR I RAN— Ff B awg AT WA BT AT 1 RIS I AP
g T SUFTERTT (T RIPRId IS RN H TS BT Ahdl & | R [
TE T A 98 ARY @ 30 foA B R IeddH AR (UH BIe) H
3T HR HHAT ¢ |

9 AR ¥ IUAGARI Bl Y Td T g U 8l § IR GHa
Td o @ W g9d Bl ¢ |

Group-E Disaster Management (3Tu<T Y€er)
Ak (Marks): 06

frifra agfadmcda w=t # & 92 fdded g |

Choose the most appropriate options in the following multiple choice questions .

28 f98R BT BH—T &7 IIeuT &5 & ? 1
(®) udi far @) Ui faer
@M el IR & SO feER

Which region of Bihar suffers from flood ?



(a) East Bihar (b) West Bihar

(c) South Bihar (d) North Bihar
29. 395 ¥ A UIgHAdb MUl A8l 8 ?

(®) g (@)

@) 3Mdddig (&) YhH

Which of the following is not a natural disaster ?

(a) Jsunami (b) Flood

() Terrorism (d) Earthquake.

30. 91 U997 &1 SN 60 el | < |

Answer the following questions in 60 words .
g6 & IR g9 A g9 & oy ®—ar Surg ey o =iy |

Describe the remedies to privent the disastrous effect of flood.

STINHI AT (Answer)

58. (8) SN fd8R

59. (1) 3fTddhdrg

60.97¢ I 99Td & Surg A=faRad § —
(i) el & BN AT dede a1
(ii) dfer a1 o7

(111)
(iv)fET ® Pera BI A

(v) e T3 Bl g Bl




MODEL SET-3

Group-A History (3fasr) 3k (Marks): 20
FrfoRad sgfamadia ol 5 4 98 fdbed g —

Choose the most appropriate options in the following multiple choice questions .

1. MR Gfag § fear war 73 9 Sfou Fenes feww gefag 87 1

@) =Y (@) T |
SONRCICCIEC I CIERMICIEIEE
73rd amendment in Indian constitution is retated to -
(a) Centre (b) State
(c) Panchayti raj (d) Non of these
2. gR<M T &I e fe 9y g8 ? 1

() 1910 (M) 1906 Ty 1907 (&) 1905
When did Muslim League formed ?
(a) 1910 (b) 1906 (c) 1907 (d) 1905

Wl TRl ¥ R I @ gfd & —

Fill in the blank with appropriate word :-

3. 1904—05 & HH—SMIT & H oo, DI IRISIT TR | 1
---------------- was defeatedin the war of 1904-05

4. A TR TAD 3R oo GIRT BIHDA AT RIS DI YD [HAT
war | 1

Home Rule League movement war started by Bal Gangadhar Tilak and -------------
¥ geAl &1 IR 60 Tl H T |

Answer the following questions in 60 words .

5. WAIE W Uoh fewoh ford | 3
Write a short note on ‘Satyagraha’.

6. IIT H ARG & GG H IR &1 AP BT qui B | 3
Describe the role of Napoleon in the development of Nationalism in Europe.

7. FHSATHIUT H IERIEI HUlRI &l ADT B WE N | 3

State the role of Multi National companies in globalization.
=1 Tl BT IR 120 T H © ¢
Answer the following questions in 120 words.

8. ee—d19 # Wgare & A &1 avfe &Y | 7

aferar
TARTST OS] ! AT0AT Ud Sgaed &f faaasm & |



STINHTEl gide™ (HISTORY)

61. (1) TATI T |

62. () 1906

63. T

64. Tl IUC

65. GIRIE &1 €39 g 3R AT wr menRa €| wrefieh &1 AF=r o &
Py S O 9 ¥ URT 3R g & fOwg 81, 9 uiftg & fou
ANIRG I DI AIIDAT el TSl | Ueb Aearrel fa=r fhedl feaes fohar
@ G 3R AT & Bl W AP Bl WG B Fbhal © | TSI B
AR FAIE Gacll DI T8l qdall BT EAIR 2 |

66. U = 3191 JMHHAVN H Scoll 3R THAT & ISl | AT &l qTa=T
P ST AT | TAfelas & 3MHAT W AT 3R oY A0 &l &
Ude H T MY AW I MU Uhdl B WaHT BT b g3l | STl
THIBIUT & AN OR Fel U7 | AuIferdd 1 SHAT @ 300 ¥ 21fdd Waa Iedi
BT AT B AT 39 X[SA] BT GG FHAIBR SHAT DI o dT § IEgdArg B
AIGAT BT ST b |

67. YHSIHRY & UATd B fAbfid o3 4 fdgg d&, JIRisiia ga1 oIy, fagg
MR Hi7eq AR efyd e & g dufal &1 3gd dred 2 |
fafer= IR wufel o I, dF1, wded, gEer IR HeUR &l Hodi¥as
TR R Yoil a3 BR rdi AT Bl ISR IYTe BRI © |

68.2041 Hdl & A(RY H fee—d # Wgdrg &1 9GAT Bl fdbrd URA gl |
1904—05 30 H UH URMIE < WU §RMT ®F & Wi fb oIH 9
fera—dI & N H 3McHael BT IR gl | w4l 3R AvewEy & faarl |
A AT BT gATfad o |

fee—d @ df=g ural § % dRE-—99 8 Ue w9 9 BN
TN @ 3ENT o7 | AU¥ IR qodl difchd, 3™, HHIsar 3R R H
qRTA- SERRIT BRH & | U [aga-rd gas 8 9 g & 9@ § g9Ri
qagas Rell g b gRI Bl 1 DI Al o ol | HRiEra
faameRT & ywifad & @ g =1 1930 S0 ¥ fAgaa™ AwIard) < &I e
f&ar| 1930 20 & fde #dl = Igare & et & anreE |
3rerar
HETHT T §RT 3RAZINT 3M_IdA- & a9« | ARG H "R =R

o1 g Uar g3 | vl Rerfa 9 1922 g0 # wan aferge ¥ fyais= < vd
AT AT FE® A AU uRue & afR ®R9 Ud 9ed & 376X AXBR ®f




It &7 faRe e &1 URTd @7 | 98 UNKd TR S8l 81 9T | PR |
SWIBT TdR 1923 30 H FIORST &Y U4 Al ol "8 o WRIel rél &l
RATUAT P |

WRIST Uiel & Savd o WRIeg & Uif|, S gRr et
TRON IR &I T, 1919 30 & JRIH # awysd Gur | ¥eq H
RIS G & AdRll gRT WHRI Il &1 Ry YRl &l rcAfdears |
Y T o7 |

Group-B Geography (*31id1) 3k (Marks): 20

fAeifhd agfdeedia us=i 4 9 98l fAdoy g+ —

Choose the most appropriate options in the following multiple choice questions .

9. Fr=ifrad # &1 wgfae e 98 8 2 1

(@ T (@) e
@M AR CIREIRE]
Which of the following is not a natural resource ?
(a) Forest (b) Rivers
() Town (d) Mineral

10. T8 DI I AEFH A9 ofF T & 7 1
(®) NH-7 (E) NH-1
)  NH-5 () NH-2
Which of the following is the longest National Highway ?
(a) NH-7 (b) NH-1
(c) NH-5 (d) NH-2

11. 981 ¥l | Rad WAl &1 g &

Fill in the blanks with appropriate words :

(i) DT IRATY fAZT T8 oo g H Rerd 2 1
Kaiga Nuclear Power plant is situated in the state of --------------

(i) DU DT A B T FIH SOGHT oo T % | 1
-------------- siol is the most suitable soil for cotton cultivation.

12. f979 U997 &1 SR 60 WeRT H T 3

Answer the following questions in 60 words .
TETSl T d1 e #at v uRagd ArEl & ifdd fawr 81 3=
HROT AT Y $9 DA DI WL BN |

There is more dense network of transportation in plain areas in comparison to
mountainous areas. Give three reasons in support of this statement.

13.f=1 U9 &7 IR 60 <l H < 3




14.

15.

Answer the following questions in 60 words .

Tl JENT MR 9RI I F 37T a7 F93d & 7

What do you mean by light weight industry and heavy industry ?

=1 ge &1 IR 60 Tl H < 3
Answer the following questions in 60 words .

IR § BY & o Sucter fb=gl o9 WrMfers faenai o1 qui o |
Describe any three geographical conditions which are suitable for agriculture in India.
T U9 & IR 120 Tkl H < - 7
Answer the following questions in 120 words .

qIRT § Sdle WSl dal—war uig Wdl & 2 30 e &1 fa9van aari |

What are the areas of alluvial soil in India ? Mention the important features of this soil.

ST
N S GR 9Rd BT U HrE g1gy a2 F=fefiad o sraifed & 9
3ifha H‘ﬁﬁﬂ'ﬁf:—
() I T e
(@) TP PIIAT SUEH &
() TRTGR TR e
(&) MeETeR) dar
(§) SMaaR

Drow the outline map of India on full page and mark the following by shading:-
(k) Kanha National Park

(1) An area of coal extraction

(m)Tarapur Nuclear Power Plant

(n) Godavari river

(0) Amritsar.

3T
had s BET & g
Only for blind candidates :-

g SR BT GBI Y qAT ST fIereary aar |

Present the classification of vion are and explain the features of each type.




SAYHTAT (Answer)

=l

1. (i) BT gAY fIgd ' FHfed T H Rerd B
(i) U @ Wl & ol WaW IR dlell YT 7 |

72. UBTS! |IT @1 3Uer HerHl 9l # uRagd ArEl & ffs R 8+ &
forRad R 8 —

(i) FFae &3 § gRass ArE B AT BRAT I 81T & |

(ii) &7 @4

(i) 4T &= H WEd S o S eniefe fhareead 89 @& BROT |l
I8! gRagT ARl B Ifd AR gar g |

73.8c® a7 € RN g o AT &1 YA BT & 9 GIR AT Al
8o BId 2 | S—sodei=e Suavl, Rers #3iq anfe |
INT ST # R &ed AT BT YA BT & 9o A Sarg | 9y g
g | SI—g-gwTd Se 3anfe

74.9Rd ¥ B & forg Sueter 9 Aimifers gfaamd f=feRead g —

(i) SuTs fer

(i) g STt <=

(iii)eTJehel STeTdTy

75. R | STdlie gl & &7 f=feilRa § —

(i) OSTTT | 3 db Bl HRd &I gad Hal

(ii) 7T U | T IR AT @ =fedt

(iii) e gQeT TAT JNFSYT § HEMGT Bl et

(iv)de H AFRAC

(v) HBTET, TRTER], B, BRI, T—TFAYS BT Soal |

9 g1 @ favman f=falad € —

(i) Steire frel &1 T8 drel, Riee vd gfter & A= oud 9 2iar 2|

(i) d BBl IUSTSH HaT § dAT T, A1ddl, g, DI, qoled Wbl BHdAl &
forg Sugad A STl 2 |




P

e g

I NDEX
A | TFET ey Zame
® |arTor TR BeA T
~ |7l =
W IRAET




Group-C Political Science (RTSTiIfcr fa=sim)
3h (Marks): 17

ifea agfdmedra uedl # 9 |l fAded T+ |

Choose the most appropriate options in the following multiple choice questions .

16. AT & IABR A<l B YHIMTT b 5T H gg ? 1
(@) ISRAIE (T) 99 A
@ [@ErRA (H) HERT &
From which state the movement of Right to information is started ?
(a) Rajasthan (b) Punjab
(©) Bihar (d) maharashtra
17. IEOI FHTGT UTET & HRATIH bI= o ? 1
(@) oy Rig (@) BrERm
SUIRCE SN () 1B e
Who was the founder of B.S.P. ?
(a) Rajnath Singh (b) Kanshiram
(c) Ambedkar (d) Rahul Gandhi

=T Tedl &1 IR 20 eaT H § -
Answer the following questions in 20 words .
18. 91 BTUMRY | MY FIT AAS & 7 2
What do you understand by Booth-capturing ?
=1 Ul &1 IR 60 W@ H G
Answer the following questions in 60 words .
19. a1 & HAfTDHR AT<led R T fewoly fored 3
Write a note on the movement of Right to Information.
20. HETHS TR LT THhdT H dY TSP © 2
How is the federal system assist the role in national integrity ?
=1 Uel &1 IR 100 Wl H G
Answer the following questions in 100 words .

21. ITH B8 & TS UG BrAT Bl guid o | 7

Describe the formation and functions of Gram Kachahri.




SAYHTAT (Answer)

76. () oI

77. (@) BIRME

78.Is IHIGAR YT Siid GHARET B & foly ddd & dof W g BIUERI
BT BRI AT 2| 98 AU FHADB & HEgH I AGIE A o™ b
T BT 2 |

79. 3HD] YA 1990 $0 H VR ¥ 8% | A~ WRpR) draf d AqofgRl 3l
&1 SIFATell ASTgRl T HIASli~dh B HI AN DI TS | AXBN SRIAS Bl
M gad @M ¥ SR B QT O[T o7 Bad: Swias &l
Adels R b folU s=_lel URH 8 AT| §9 3Rl b Gal &l
AMTFR 3M_ler A AT TAT| 3fda: IoRAE WRGR - W9 2000 30 H
AT BT IATBR Gl B G147 | 2005 50 H Bvst AXBR o 9 G 6
JMYPR FHIA Ut o |

80. MR e # wIRd &I (8l BT HI' HE T 8| TS THal Bl
Aol @ foly &g B wfaaenel ey &1 1 8| &s IR 59 & 4"
chIg I o & oIy B o), oG g U9 FAd< Al & fdqiid afddar
1 fauro Tt wU ¥ &Y fear war g1 b 3R Al & &9 Geld 9 1Y
Gq @ U Fatea =Ty & gaie AfPaR fou v € |

81. [9gR # Ul o7 AIfRITH, 2006 @ STTAR UH HAEl BT TS HX Bl
UTIHTE © | $9hT TS+ ycuel fRafad grT fhar War € s9e siavid Ud
fafee wrda ok fRed wem # fafed 4a 8 €1 T 99 T 500
JMETET B Ul #Ram © 1 UMW FEed H W Igfa ofd, g
S, fUser v, e fUssr aFf Ud Afgamsil & o7y JReror &1 urae=
2 | SHBT Brdhlel Ure 99 T Bl 2 |




Group-D Economics (3refemen)
3k (Marks): 17

rifdea agfdmedra uedl # 9 |8l fAded I+ |

Choose the most appropriate options in the following multiple choice questions .

22, YRT H AIGTT AN BT T3 e T ? 1
(®) 15 ATd, 1950 () 15 A, 1950
(M 15 AT, 1950 (1) 15 FdwR, 1951
When did the Planning commission established in India ?
(a) 15 March, 1950 (b) 15 May, 1950
(c) 15 Aug, 1950 (d) 15 Nov, 1951
23, IR ERANTT I Ya™ & drell Fad AU qeE ¢ 1
(F) AEGARD 96 (@) G
@M  HWEBRI 9B @ >R
Which is the most popular non institutional finance providing loans ?
(a) Commercial Banks (b) Mahajans
(c) Co-operative Banks (d) Businessman

=T U &7 IR 20 9=l H < |
Answer the following questions in 20 words .
24, qETAT fhd HEd & ? 2
What is outsourcing ?
=1 U &7 IR 60 ¥Rl H < |

Answer the following questions in 60 words .

25. Ufd fad 1 T 8 7 3
What is per Capita Income ?
26. fa<iia HwITH | MY 9T §ASKT © 7 3

What do you mean by financial Instilutions ?
=T U &7 IR 120 W@l H T |
Answer the following questions in 120 words .

27. JIQHROT & I BT Ui &N | 7

Describe the components of globalization.

T
ST P DIT—hIT ARHER & ? I By |

What are the different rights of a consumer. Describe it.




SAYHTAT (Answer)

82. (®) 15 #T1d, 1950

83. (@) AgTo+

84. 519 GG HHAN 30+l Hefdd Faffd Hai ool el & WIE W
fpefl = ar faeeh e ¥ urd oxell B U1 el @l srgasEi
PEd © |

85. XY MY H QU B Pl ST ¥ WFT o W Sl A% AT & I9
ol @afdd g wEd € |

gfe fdd Mg = A M

<Y B Hel TAAET]

g6. foxfra wvemy Qo1 Qterar vy @ VAl WRemelt @ ®wEd €, S aArl @l
IMITTHATS BT X HX B 9 UG G&T Gl i &1 Frre dehl 2 |
J HRIU BN, IR, AR S 3fde Sl & ol sfeudielle, Hegdbel
3R <T@Telle A 31ET F0T @ giawr v el 2

87. JediaR & Ui geg HfaRad o T § —

() g 3R @WUR Haell EREl @ HHI— AR JAREDI Bl HH HIAT
qrfeh avqatl Ug Am3Hl BT A I JfC—UaH 8 b | g6 AWMU I8
BT o fdae SHaf-dl R iR § U1 a¥dU g Wi o w9 9 99
Taar & R i gBR AR HEfR fade # oo axgi ud WA 99
|l ¢ |

(ii) Yol 1 fHaier yarg— VAT araraRer &d w1 o faf=t gen | 4o &
Uaie wWad wU 9 8 W | g9e e g7 gor fo faqel doiufe wra |
T o Adhd § IR IR Tohufy fagen § e w7 ¥ed §

(iii)dTenfrer a1 de-ife &1 ey uae— U IR SRE S fh e fed
Ufee & U <9 O <9 ¥ UEiie] a1 d@-ie AT R 9ad & |

(iv)s @1 ety gare— VT ardERer g9 6 [t <o # sm e fed
I B 3M—I HD |

(v) Goft &1 gof uRexiefieia— ool @ qoi uRe<iasiiciar « 9ediearor &1
MITTE AT 7 |

AT



IOHTGIT HRETOT JMAIH BT IRT 6 & 3T IuATGaT bl FferRad
GT@WW%QTFQ%:—

(i) gReT T SfSBR— IUHIGAT DI UH I&3ll iR Hamell | FRem Ui &Y &l
IfPR & R 99 IR a1 FwRT &1 &1 8 Fa 2 |

(i) AT U BT SMABR— SUATGAT DI I Tl ALIH AN W U I Bl
FTPR 21 Rrgd AER W) 98 geqy a1 Jag w¥ed 1 [l H Fahd
g |

(i) AT BT BT ARTHR— IgdGd A= s, [HE, w0, 01, [, ATHR
TAT o BT a&gali # fHl W a%g BT A1 A BT @A g |

(iv)gTare BT IATBR— IYATHIT Bl 30+ &l BT J91fdd &R arell a1 qral
B SRFT Hal B AT TG DA BT ATBR T |

(v) &fagfct @1 sifdeR— 59 R & i Wil Ts 9% a1 HdT IfAT
& el el a1 ST SUD Gl JalTaslT & ST |

(vi)SuwTaT fRrem &1 SfderR— Iudadr fHdl o & Hou, SHd! SUANICT,
PIfe TAT FAT B TGN T ARTHRT S aid 3l & o Jremw |
Rrféra Sudad graTTsl W §99 @ folv Wd 99d 8 9ahd © | 39 UBR
STHRTT DI HY AHR QY Ty & 9T 98 o/ T WRI8d Asqd
P |

Group-E Disaster Management (39T <€)
3T% (Marks): 06

fr=ifra agfieeda el § ¥ |8l Racy g+ |

Choose the most appropriate options in the following multiple choice questions .

28. T ¥ UHR & 3MUaT & 7 1
(®) UTbidd 3MUeT (@) A YT
@) T SISl @  $TH A B Ta |
Drought is which type of disaster ?
(a) Natural disaster (b) Manmade disaster
(c) General disaster (d) None of these.
29, frfalRaa o= wgfas muer € 2 1
(B)  SIRT ST (@) €9 [dwpre
@ HY ()  RHE geHe
Which of the following is a Natural disaster ?
(a) Catch Fire (b) Bomb-blast
() Earthquake (d) Chemical disaster

30. 91 U997 &1 SR 60 el | < | 4



Answer the following questions in 60 words .
gErs ¥ g9 & D] BT Ieold o |

Describe the remadies applicable in draught condition.

SAHATAT (Answer)

88. (B) UTdHId UG

c

89. () =

oy

90. gET$ Ol UGl & Udgs ©Bg & UDR Pl ASHN JMaWdH B, oA
g—arHdleld R gDl AN | STl Ao & Jdia—ey,
qTerd, HRif, UgH, MR & fAHTH P SToxd & | Te% & Aregd d ool o
STl AT ST Fehdl 2 | Uolld 3R BRI § 83 &1 STl [dura) 8 gare
B AT BT AR FHEE far T 7




Group-A SET-IV 3k (Marks) : 20

gfdg™™@ (HISTORY)
Freifera sgfasmedta uoi # | wEt fawea 9 -
Choose the most appropriate options in the following multiple choice questions :
1. GfEg s =ien F YEA F9 IR FET 8 ? 1
() 1920 @S (@) 1922 9= (1) 1930 =St (%) 1928 feeedt

When and where, the Civil Disobedient Movementwas started?

(a) 1920 Lucknow (b) 1922 Patna (¢) 1930 Dandi (d) 1928 Dell:
2. ‘THd IR Wi’ W1 Afq w1 sreeran e fwA o ? 1
(%) Afsr (@) feeer () foream (=) fafemm wem
Who adopted the policy of, 'Blood and Iron' ?
(a) Mezzini (b) Hitler (¢) Bismark (d) William-I
wet vl | e s @t gfd & o
Fill in the blank with appropriate word :
3. TN SfHe WH I T g0 H FEI 1
L.1.O. was established ..., AD.
4. G H s STRed % A &l 1

............................... was the leader of Khilafat movement in India.

o1 9l o1 ST ofieRad 60 VIl | @ :

Answer the following questions in maximum 60 words :

5. 1848 Fo F WHIHIE! Wifq ® FRUT F H ? 3
What were the causes of French revolution in 1848 ?

6. STHEANT <o WoH 99 ST=icH o, #9 ? 3
Non-cooperation Movement was the first mass movement, flow?

7. ST 3§ Aol w1 emsifast R W gefaq fEer 2 3
How industrialisation effected the livelihood of labours ?

e woat &1 3w etfreRaw 100 vreEl A €

Answer the following question in maximum 100 words.

8.  HIEEl T W A F0 el 2 T F1 99E ULl ? 7
What was the incident of Maili Village ? What were its effects ?

HAHET (or

ARG e F1 F FROT 91 7 F1 9% AU 9% )

What were the reasons responsible for Bardoli Satyagrah ? Was this Satyagrah successful ?



oW b=

ST (ANSWER)

gfagr@ (HISTORY)
(1) 1930, et
() T
1919
TETeT Tt

1830 %o I wifa & &% ¢ fHfea wia &1 TN a1 98 IIRaE T o, foreg Sfrafa ot 1 wmefs
ol 39 3N Frgaa wumsst fis amifeas ©d anfée gy @ fauedt on @ frfaw & o9 ganes
FFH I HIE A a1 | 9 H TEH TF AUSIIN qgH ol 22 WAl 1848 i o & g §
SAT A USHES R forn sfaa: o fhfera &1 U Siea greve wnEl gEl

HETHT e G/ 1920 $o H = T THSAN RIeH v & YoH 59 <o o1l $6E g4 e T
Qe AR H SMER AR TF qifow o 5 o foaem & feqi &1 @ & fod o6 ™ o) stmeam
A< H Ugelt aR SAUST TS © qiF F1 Hahey fordn T sHE YOR & gl 39 W ol vgell a) 39
M=o § o2 UM W fHRam, Teey, o, sraar, femt snft 5 am femm

sirenfeRo 3 ¢ St yomedt it S e sed T w9 fAfia @y e wOR sEn W agd 90 e
veTl P-4 e SEm W T @ T TR W AeEy # st B ) @ % e e sud
F TEge # TOEH & fau 97 78 W@ SR S A g SR w1 dren gRe fRm stoet
feafa & gur = fod gffepl 3 o=ieM & U o woa: a1 999 &1 J&eTa gl

it foaorem & HE o e W TME o1l 1968 § st @i S WS w1 dreeee § 9 g w5
R e i % weft gl # At ¥ 9R e SiRdl SR wwel w1 s 9 fon T oTw e w5
Hfgenett & @1 w2 Al 9% amfew Toner e e afemat # ot T2 aem @ R R oft 5r een
TN FOIeE R ME ® e o

T TAEIE § RN % d4 UF gel oEA a1 a9 o e 39 wed @i I39mR fRan fafa=
HER-TA 7 TH T F Y@ ¥ 91 fave WR W T "eA O el wfafkar gEl In aE STt
TR F HZ A 52| fova Swaa & <aa ¥ et wifs & forn San 2 e st aeufa e
3 A Faw faaam afew i fee-<iw o wifa = fo g5 faom 2q 9= ot gism &t = =@

YAl (or

ARG TS 1 G&F FROT fafeet R gr ffaml | w3 1 sern 91 om fRamt § o i a2l
T3 22% i FX gfg F GHEH F FEH T G GREC F FAE 7 doadT 9 oA F Agd § SRR
% foeg e fFan 3@ wiicer o afgensti = afwa w0 9 9w foran stidie & a9eq o Houdo gt
T @t St AR A S faum afeg #t ged ¥ @ < faam 2 e, 1928 b St ot emie
o nfHet = MU THER HT G IS R I i AT F 22% F TIHL 6.03% FL T T T =
" wfeenetl g7 dead 9 w2 #ER’ #: Iy §



Group-B SET-IV 3k (Marks) : 20

Wt (GEOGRAPHY)
Frifera agfamedta vl ¥ | wEt fawew =7 -

Choose the most appropriate options in the following multiple choice questions :

9.  TER uTA fRe Uo7 H frem # 2 1
() ToRM™ (@) e (M) ey (%) FARH
Ennore port is located in which state ?

(a) Gujrat (b) Goa (¢) Tamilnadu (d) Karnataka

10. 9RA i el Trad 2ok s | wier T 2 1
(%) 7 (@) 5 (M) 6 (=) 8
India 1s divided mto how many postal regions ?

(a 7 (b)y 5 (c) © (d 8

1. W A R e W O

Fill in the blank with appropriate word :

() TR § i 1 98 Hewqul FREML..ooovvvvveverrere B T R 1
The most important fertilizer industry of Bihar is located in.............c..ccooenne
(i) T fa= # gewd 9 fodl wE fagiy & ard T SEE Bl FEl W 2 1

......................... is the term given to the elevation of any place determined by bench mark.
12. = weAl 1 S eAfusad 60 vl §
Answer the followmg questions in maximum 60 words :
foer & dmi foe@ #=1 #1 oo Firag) 3
Describe thermal power stations of Bihar.
13. = weAl 1 S st 60 Rl W T
Answer the following question in maximum 60 words.
- S i F Seeid 3
Explain Non-Conventioanl sources of energy.
14. 7= v 1 s afuswad 60 v ° ¥
Answer the following question in maximum 60 words.

= ifa 9 =9 = g9 § 7

What do you mean by green revolution ?
15. e el 1 IR et 120 v A ¥
Answer the following question in maximum 120 words.
IRd ® Y 9iEed %1 9uH &ifag ? 7
Describe the pipeline transportation in India ?
AU (or)
T IS W IRA HT T @ qHAES SR qo feEfafea #3 smited = 9m sifwa wifeo
(%) fomE oo &3 (@) Fauasn (M) 9= (=) fowmemreTm () S
Draw the outline map of India on full page and mark the following by shading :
(a) Digboioilarea (b) Kalpakkam (¢) Chennai (d) Vishakhapattanam (e) Kolkata

HYET (or
Only for Blind Candidates :
faer =t Ffu woemed = == Fifu

Discuss the problems of agriculture in Bihar.
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10.
1.

12.

13.

15.

ST (ANSWER)

gMe (GEOGRAPHY)
(M) dfeerg

(") 8
@ =
(i) Tt Har
TR St il @ st faer ¥ wE aria fagg s ¥ T weoriia, wiE SR 93 ardg fagd $=
pricid
FEaia R gHel TR faer #1 gad 9€ qrda faea ufEsm 21 98 S g0 wEsa NTPC &

e e wn B wiG A faga # = quveqR & e 21 W | off A faem s wenfya e
T R

- TS wd ° aEniE, GRS, TEA-se, Said U6 oA S, Jad se ww S Sl
el 21

IR Sl 1 T ToRm, ToreE | g3 @1 uad Sl 1 o ToRE ® #es qn afberrg &
TARIE | gon 21 Saiig Soft Fos w1 @IS a1 gavaq ° gen 21 fewrae & v § sqardta S g4
wonfya foan T 2

efta wifd #1 IEeTa 1967-68 | FH SCEA FeM 3R @R e § 291 F1 et 7m % fog faan
T 1| A wifd & SAaTa U WL Sl 1 YAN, S, §a1 Wi, f9aE w1 gfaw $fu &t 1€ dwAiw
3R drRifirRl W s e mn fod 1€ ud wee % Soed 9 gfg g w6

=@ wifa =1 waifus waE doma, sfamn qen ufvem S w_w § gam

IS 1 STAM @ TEel Yo % ' g W % fou o e S ) wEveey & g aee,
Siett, v e, B A9 iR T8l @ R g % A= @ g ot ufeed e S a2

29 H Fed doll B SARA A 9 UHEETEne q% 9 Ineaeenst ¥ 9d SR H aeR a%
EUeEd & SS9 S 2

qRd § Fea 9o afeed % forg geff qen sw-qdf wra ok afvedt ara ¥ wew e e T 2
ot den STR-qet wRa ® g7 femEE @ s v efean o fer T #1291 # ged S wEyeEd S
RGO ER | A A £ T B o B 1 e O [ o L Bt 2 B e A



Group-C SET-IV 3t (Marks ) : 17

Treifa fas™ (POLITICAL SCIENCE)
Freifera agfamedta uoi § ¥ Wt famwew =+ -

Choose the most appropriate options in the following multiple choice questions :

16. W HMA F AW T4 S TH 9 AROE H A WA fwn w4 1
(%) 1 1 ATHR FEH (@) FIH FFA (1) SR FEA (%) = 9 FiE T
Name the law which was passed after a mass movement.

(a) Right to information act (b) Companies Act (¢) Excise Act (d) Non of these

17. =9 9 %1 T e 7 2 1
(F) AR O FUE (W) GRATT S e (1) S g (5) ‘=’ 3w =2H

Which of the following is a national party ?
(a) Indian National Congress (b) BIP (c) Janta Party (d) 'a'and 'b' both

fre wwet w1 SR 20 vl W ¥

Answer the following questions in 20 words :

18. O % fah=io ¥ o o wHe ¥ 2 2
What do you mean by decentralization of power ?

forer gt s aifireman 50 vl W € -

Answer the following question in maximum 50 words.

19. TEEUE FHI TSHIT HH ke 1 GAGT F4l € 2 3
How coalition government effects democracy ?

20. HeTeHs wmEA omaeen ® fafew Sfaum w@i smavas @ 2 3
Why a written constitution is necessary in the Federal System ?

e e @ ST arfaeRan 100 vrER § ©

Answer the question in maximum 100 words :

21, AwGE Gfagm # e faemast #1 g #51) 7
Describe the main characteristics of the Indian Constitution.

AU (or)

I % YR W uRG favas 1 waifs fafagmet awen <o 21 #9 2

India is the largest diversified country on the basis of language. How ?



16.
17.

18.

19.

20.

21.

ST (ANSWER)

Trerita faa@™ (POLITICAL SCIENCE)
(F) G F AFER FA
(H) ‘Eﬁ‘aﬂ?h@dﬁ
o % fom=ieo =1 sfaum o % ey H #iEa T # sqE fafv= w1 w fawfsa s 210 9
T THF G AR H% 0 WA H A" g e 2

AuE § TeEUE Hi TeEita it € T #) e daifE guEd # oeR W o g § 9 9 9K
TER T fou foamum ® "eafa 7 eF & aeEeR o ey R S 21 TeseE % Ren Ui <ol
F &5 afEd 4 wHEi @ USd € s feq @ el feaq & forg e fofa o @R wed 7

eI oA caaeen | fafed wfaem 1 e oifd geeyul €1 gEE ee e & sl w1 At
% Heg wfadl w1 T S2an R S Savas B1 ST R $ 3R TS ® W9 e Hi fefd
IO B W e T Tl ® g fafen w1 @ vfaaat & faumm & =matee oo fofg 25§
ST B

A e # e favmand fefatea #-

() HEEA diwad - GRAT Wik U GEE wiehas &1 Tgufa swefaifernt w1 geted URifesR g
2, forg arwfae sifusr wefafog o af=fed e 2, faes gum gumsst e 21 whaieg s
wr & fon amfes w9 @ g9 & ufa swEE 2

(i) T 9AUFE - 9§ faf=q #1 sy yone foemm 21 fafea & weaq 9 wasm 99 [
wfafafeat = g7a &1 =l 18 o @1 3ud afusw sy & ARG F1 HaEH A H ATFER W 2

(iii) HifeTs AfIaR - 9Ra & diaum g A &1 ®: difees AfaER g 81 39s G0 H SATPRR
Ieaqq IEed F 9 B

(iv) TS =T - AR d@fEuE w5 E ® o uF w1 s St S5 EeE 2
(v) fafea dfaam - aa #1 |faum fava =1 qa 921 faftaa wfaam 21

YA (or

IRA H TR 1500 AT WGAH F F9 F g 1 FH 114 9 GYE F Foiq fawa fwwm
T 1 ARG GEHE % ored ge ° 22 wmwisi i we G wn 21 3 E-swfien, @i, |, =,
TR, S, YR, TTg, hiwol, TS, Hierdt, AfoTqd, o™, e, geet, Sfen, o, e,
Gohd, don, diue, 391 wed e 9 e @1 fet 2w % wept e A el oIk wweh W 21 T
TS 61 I 9 1 OCAT o SMUR W faas ¥ a= & forw fet % wu-wy st i off wuw amw
% ®7 H A= el g8 @



Group-D SET-1V

23.

39T (ECONOMICS)

Frifera agfamedta vl ¥ | wEt fawew =7 -

3k (Marks) : 17

Choose the most appropriate options in the following multiple choice questions :

‘Foa’ g @ w1 qE R 2

(%) 9Rd (@) e (1) e
'Rupees' is the currency of which country ?

(a) India (b) Pakistan (¢) Nepal
FauH wag ¥ anfeew fawm o g e w1 Aiee gaitus @ 2

(%) Ffy &= (@) sEm &7 () Far &

Presently which sector 1s contributing most in the economic development ?

(a)  Agriculture sector (b) Industry sector (c) Service sector

o7 uost T IET 20 VI B W

Answer the following questions in 20 words :

24. wuERh fammE R 2
What 1s Inclusive Growth ?

et woel o s srfueRad 60 el H ¥ -

Answer the following question in maximum 60 words.

25. ToFuMi I WWE AU I F SERAHA F e T 7
Why does farmers need credit or loan facilities ?

26. 9RA ¥ U 3 F O Y geen ® gr g ® 2

Which is the institution that does calculate the national income in India ?

1 g9 T 3T arfueRag 120 Ve A ©

Answer the question in maximum 120 words :

27

foer = oNfeh =gaeen T Iyl H GRNHE G9E HT G0 Hi

Describe the positive effects of globalisation on the economy of Bihar.

Y _(or)
FrefeqeEe FY GO § N GG © 2 5% T 9 # st @ 2

1
(%) T8 | gt

(d) All of these
1

(q) i.al .qa: i.rl:,qb‘:ﬁ

(d) 'd'and 'c' both

What do you mean by the structure of economy ? In how many parts are they divided ?



22.
23.
24.

25.

26.

27.

(M)

(i1)

(iif)

(iv)

v)

(vi)

(1

(i1)

(iii)

ST (ANSWER)

rdymE (ECONOMICS)
(7) =z ¥ |t
(1) el &

Afeer famma =1 ' gferan forad gars & @it o) =1 S-S S91 8l ST qe S91S0 61 g ot o
fawm = =9 ¥ gf=a 9 @I

faer =1 sreforawen gera: Hf W enuifa 21 787 o 75 WiaeE A weIs A1 STycas ®9 9 HiY g
THY TrEfHa o-HeR SEN ¥ 9 g Bl Wl @ afusmiy fram o w g fram € safean wf w
IHY Wefyq sEm & fog gt Y sTavasal B Q@ wE & fou gra dgen w1 F1 STavaal gl ¢l

qRA § T 3 H A S35 ieTH ST ® 5N F A6 o) 98 §e Fafthd ' 9 I8
F IHS THIVE F | UL o & God § yedoqaee % A enl w1 AEE g gl
faer 3 o7 sraten W Ayl F GERTF YNE 92 ¢ W FreAfafed -

Fi e § gfg - vt & Fro1 e feafa § off WER @E-gren ® A ¥ gee @ orefq F
SarEA o wl 9fg g R

fereft woaer fraw 1 wif - Svdieo & woreey faer & farelt yorer faw o gen @ ok afesy o
faeeft worer fraw o gfg +1 emen =1 < 2

T T @ T Wi =afea o ® gfg - Svelte & HRo1 fer 19 #1379 qen gia st o o i
2

forvereadia Susiier agsl H1 SYASA - AYAHON F FROT faegR & AR F agrtd FtE & g
WH, S, ede 96, T e, R U6 9 sowRie a5y R ¥ Suersy 2

TR % o & gfg - Svdiin] & Foma®y faer & &gd 91 SR ISR e 999 T4
ITfr T geie onfR S ° Wt wem W At #W ® 2
TEAL S U A FfE w1 S - AvEEr ® R0 AU A, S, sore uferis, fagen
YIS, 20 CIES., srdian senfg 1 faer & st gem 21

0 YR faer =1 srfereren W Avdior w1 HReE 99 gl 2

HAYAT (or)

Fefemeren 1 WEA 9 argd fafa=r sce &9 % fawsE 9 2
sreferereen o fafa= wR & oS fFad =t St e 39 fomasti 1 o 9w ® st e e

W &5 - Mefis & 1 F &7 FF w1 S 21 36 F=id Fi, IYEeH, HSell e U 99 $ens
I Fl

fadtas &= - fadia &= i sieifr e «ff e T 81 s sioia @i e, fof s, S
YAt S - 19 iR faseft snfx om €

i &7 - s e H gar e off Fer S 21 TEe sifaila % ud o, wfiged, §ER @ SR
Tafs faamd & 2

SEHE G9E § 39 & eferaren § 39 dFl an A Far &3 &1 AveH way s{fuw 2




Group-E SET-IV 3k (Marks) : 06

AT Ya-—1 (DISASTER MANAGEMENT)
formifera sgfaemedta vt ¥ A W famen o -
Choose the most appropriate options in the following multiple choice questions :

28. fToefafes o @ = U1 9ma # @Et 9 ST w%aw | gefad T8 g g 2 1

(%) foer (@) wrEE () ufesw s (1) TSTEIH

Which of the folliwing state is not effected by cyclones originating in the Bay of Bengal ?

(a) Binar (b) Jharkhand (¢) West Bengal (d) Rajasthan
20.  TH FF @ FH GFR T 8 ? 1

(F) HEF @ (@) e @ () T gan (%) T g

Which of the following is not a type of drought ?

(a) General drought (b) Meteorological drought (c) Agricultural drought (d) Local drought
30. 1wl w1 S 60 TR A | 4

Answer the following questions in 60 words :

W e & IEm R g e

Describe the utility of Ham Radio.

3SdY (Answer)

28. (™) TSEAH
29. (W) TOHEE gEn
30. 2w e % SyAm fefafea € o
() Aot wARSH, W9 1 SRE-TEH, qRREH T Sy §e9R & faw g 2

(i) THH ITEN R ® &9 H 9l A ¥ fF W wwar @, e qE Ul Sl A1 S § %W
T 2

(iii) Toen, sEyE =1 =fama w@l & fou g9 swm = s g% 2



Group-A SET-V 3k (Marks) : 20

gfdg™™@ (HISTORY)
Frifera agfamedta vl ¥ & wEt fawew =7 -
Choose the most appropriate options in the following multiple choice questions :
. WA TS FwE H e fwg e gE ? 1
() 1856 (@) 1885 () 1890 (1) 1892

In which year was the Indian National Congress established ?

(a) 1856 (b) 1885 (¢) 1890 (d) 1892
2. YA W W R o Av @ ufeen o g0y % Hex SR g o ? 1
(%) Tm Anf (@) gt anf (1) 3WE U™ (=) iEolt 9y
In ancient times, which land route was used for trade between Asia & Europe ?
(a) Silk route (b) Cotton route (¢) Northern Path (d) Southern Path
wet vl | e s @t gfd & o
Fill in the blanks with appropriate words :
3. wH HIA B FH MEE.ceenvvvnnnsensanionne ol 1
........................... was the rular at the time of Russain revolution.
4.  GRGE TEF UG & TEA AL o 1

....................... was the first president of Indian National Congress.
T gl o1 3w AfieRaw 60 el ¥ § ¢

Answer the following questions in maximum 60 words :

5. gl oiR W & wwreRwr § s @ o offer ot ? 3
What was the role of Austria in the unification of Italy and Germany ?

6. T Moem A R ? 3
What is bloody Sunday ?

7. e SR H2R wE w uRewfi w1 3

Define the domestic and cottage mdustry.
et wom w1 s afireRaw 100 vredi W § -
Answer the following question in maximum 100 words.
8. 9@ U eA=e | st % greE w1 faese w1 7
Explain the contribution of Mahatma Gandhi in the National Freedom Movement.
HAIHT (or
= < | Y N whed € 2 7w any e w2

What do you understand by 'New Deal' ? Why was it implemented ?



oW b=

ST (ANSWER)

gfagr@ (HISTORY)
(&) 1885
(%) Wwm Art
R frerew fgdt
i = e

Teelt 3R SR % wEE ¥ A ged 9t e om i w1 wiver et uR wfafwamard em
I TEEETE § SO geell qo S & RIS 2 eHae g9ty SR STierl F <o # S
warE T detf #1 Taaer Aifqdl & wro s o s o wgar # qeE 9gd g6l ) gt
% U % W% 2ol IR WHA % UHIH H Y@ S g g )

1904-05 %o & TH-IUM 5 H ©H TF S AR Ho& JUE § YISd 8 741 369 e § SIHid
w9 H S+ fose # a9 S, 1905 Fo ® UH AR SHEHE YS¥H Fd §C R & HEd He
fyzment ®1 3R sgar o1 @ o feed |l w AT J iferal s e e o qR T g sy
feq oam =1 &7 om safere =@ ‘ot FEEr’ # we g 9 F

o] AN - F9 TS ® WeAw 9 Re] TR W R SHaren SE s SEn wEen 1 ud sEn §
TRER * wEe THE Gaer § Gedrh g €1 figd 1 add S, T2 w4 ofE el SEn & e €

FIR TAM - FA G, 39 TS T F9 AfKE H T ¥ Al Sa FIR AN FEAN &1 TR,
¢ e, HEe we IS TR ISl B

TRA TET = F 1919 $o @ 1947 o T H1 HIA MR T H AW ¥ AT @ 21 Zfeqor rfiment
Y died & =] TSl 4 TowE % weaE ¥ R 91 Tl % Uk SR a9l SEHIEE & Al
ARICH H oA g (a1 3HY e F1 (T TR W TF G999 51 & ®9 9 sfa i g

fafew TR =t 5 fatieht @l S - oiz o, Sfediaren o e #is, faersa guen a1fg 3
TefST H1 1920 H SFHEAN <O IE FH W fFaw = T fafen wEn # el 9R ww At
ARG TR T TR AR Sl T e 927

TESt & Agd § 1930 To W ST AN & HILAH ¥ TUF FHMA AlgH WiGTT A AR YRA
o 5@ arioH o afeersti 3Tk s=a 3 s1yayd w9 @ ow foran 8 SR, 1942 o =i TS A v,
SR ARG SISl ST=Ia F1 Y& F1l ' a1 70’ & TR & W9 TF foune 59 sm=ieq grid gal
19 9RA HI TaAa fe=d 3 T 15 ST, 1947 Fo & W wWAA gal

HAYE (or

anfék et & El ® T w T S (T w3 % Seva ¥ smfit ueufd weRfen S weaee
3 72 onfie fifq TRt 8 = e #1 AW e T e o FfW ud sEm ¥ e wenfud &
ol Aihehea Hifq & farfa ufaed = oAl qon T fomm wmEl & fou enfées gema q2ar =
T SHE U AR 6T GO gl Aftehl 1 wergd d gfg ® ) wm % 65 fraa ) feee ot
w9 i & 9 #1 wa™ fH wan et # enfie g w w9 % faw w2 Aifqar a9 )
TR, WIS wd g Hifaal w1 SHAhearER S T



Group-B SET-V 3k (Marks ) : 20

Wt (GEOGRAPHY)
Frifera agfamedta vl ¥ | wEt fawew =7 -

Choose the most appropriate options in the following multiple choice questions :

9.  oui-wel HWURYl % el W W R W S 6 g | F e ® 2 1
(%) fwer (@) dferrg (1) ufe=m " (91) 9% Y=_9
Which state of India has made it mandatory to provide rain water harvesting structures in all new buildings ?
(a) Bihar (b) Tamilnadu (c) West Bengal (d) Madhya Pradesh

10. T ¥ FH TAR 39 W WA: W 8 IH T ? 1
() =t (@) TFAH (m) Titer (=) dgan
Which of the following animals has become extinct from our contry ?

(a) Cheetah (b)  Grey langurs or Hanuman (c) Hippopotamus (d) Panther

1. W A R e W O
Fill in the blanks with appropriate words :

& mnasaneaed dfrerrg § feor we@ =l o 21 1
.............................. is the southernmost port of Tamil Nadu.

B sasansan TR FT AR F2Y FHEeA 2 1
......................... is known as the coconut region of India.

12. = g %1 SR sifusad 60 =Rl A T
Answer the followmg question in maximum 60 words :

NG ¥ T8 TEIA HRE@M FHYRYE (2R) H F e w2 3
Why the first steel company of India was established at Jamshedpur (Tata) ?

13. 99 999 1 IW AT 60 =R W R
Answer the following question in maximum 60 words.

v Ff @ o9 N GEER € 2 @t & favivand e 3
What do you mean by plantation-agriculture ? Mention its two features.

14. 9 9o %1 S AfeFad 60 =i H 7
Answer the following question in maximum 60 words.

IRa # GRS k1 HreEn sifue §1 i 3
There are huge possibilities of harnessing solar energy in India. Why ?

15.  fo=1 el 1 S sfusan 120 vl A €

Answer the following question in maximum 120 words,
T W ST F GO € 7 SUCSdl % STUR W WHIHI T SR Y qen SEeir ¥ 7
What do you understand by resource ? Divide recources on the basis of availability and give examples.
YA _(or
T U W ARG H TH @ gHtes a9y aun fEfafeaa w3 sifea s m sifra wifsw -
(%) = el faer (@) Yeifeaam saEs &9
() &IH TEEF & (e gt =1 4 (Z)fasaTR =@ FRE
Draw an outline map of India on full page and mark the following :-
(a)  Ghana Bird Sanctuary (b) Petroleum producing area
(c)  Cotton cultivation area (d) Areas of red soil
(e) Vijaynagar Steel Plant
Saet T o @ f

Only for Blind Candidates :

e ST w1 AIE W qY SHH! favivaet ®1 e

Present the classification of iron-ore and mention their features.
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10.
1.

12.

13.

15.

ST (ANSWER)

Mt (GEOGRAPHY)

(@) dfFerrg

()

() FARIRE dfrerrg § feom gad <ol oo 2

(i) FA 9RA 1 AT & FEe 2

IR ¥ YAl T HREM SHIRY () § H & FreAfatea wRror € -

(i) == HIe S Wle 379, Higel S SREFANR TR § Syered 2l

(i) T gfhF ga qen § Suers gl

(iii) GovRE@N T& FR SATY|

(iv) HIAH - sfegar god o Fepea

9o e T St et @ e fae gt e St € 9K T € wEe @1 Soaed fRa S #) R,
FIR (FHEar) 3R =@ H BA 6 FER e 2

o1 Ffw 1 favmand fr=fafea & -
() ¥e geFd: M $ ¥l TEH A sar SR ° o9 e S 2
(i) 9E: =S & ¥ UH @ YHR H wEA ITE W 2

IRd H GRSl F1 GAEE s €, FifE and somsfeay § frem @ qen F@i it e &9 §
20 WA GRSl ST 1 S Gkl €1 FiEieeed Wit gRI g9 1 € faga § aiafda e s
21 ORI A R HEE W SEehl 9gd 9gl h% €qifyd fRaA 1 e 2

Tl ® o weft g A1 ol S s & fog W 59 S, g et 2
ST % SUR T GHEHA] 61 aieror Fefafey € -

() vFfawEd SO - WHfaw ae S AT % fog vt ¥, yfaven e Fean §1 S-Te,
@, a9 =3

(i) HFEFEd GEEA - 9Fa g0 A @@t geed S g fawm 2 swEm | @ S #, qeesd
oA w2l

A" - 9o, SH, I oA, fakm w1 fafae e snfw



Group-C SET-V 3k (Marks) : 17

T fa9™ (POLITICAL SCIENCE)
Freifera sgfasmedta uoi # | wEt fawea 9 -
Choose the most appropriate options in the following multiple choice questions :
16. 9Rd ® Ueefl 9R ®x § R-FAH GER F T ? 1
() 1975 (@) 1977 () 1989 (1) 1991

When was the first Non-Congress government formed in India ?

(@ 1975 ) 1977 (c) 1989 () 1991
17. %@ 39 4 wggelia oqaeen 7@ 2 ? 1
(%) 9ra (@) e () faA (91) TR

Which country does not have multi-party system ?
(a) India (b) Pakistan (c) Britain (d) Bangladesh
e wo @ ST 20 TRl W |
Answer the following questions in 20 words :
18. ifier ST w4 § 2 2
What 1s gender mequality ?
Fre wom e arfireRan 50 v A ¢

Answer the following question in maximum 50 words.

19. TSI w1 eTaueET = e 2 3
What 1s criminalisation in politics ?
20. WHATHFHR W TH Hiea feoof fog 3

Write a short note on human rights.
e uva 1 s arfaean 100 v A €
Answer the following question in maximum 100 words :
21, o Federr =1 oed e € 2 ara ® o e = smowaE © 2 7
What is secularism ? Why is it necessary in India ?
AU (or)
U7 A F 2 7 1 T8 FHEA Uk UH H G g ® 2

What do you mean by foeticide ? Is law is successful in preventing it ?



16.
17.

18.

19.

20.

21.

ST (ANSWER)

ot fa@™ (POLITICAL SCIENCE)

(@) 1977
(m) fa=

A # fefn & emyR R Afeens oK gedi § S g9 fEa S € 39 gw e stamEa #wd §) 97
STEHMAT TS, AHfe, 31 gerafe siefq & &9 o Jen % fierd 21

TSI | 9 e &1 HeW a9 FHool F F1 TA9, TF @E TARN & 949 § a5 e &
U SR A1 Sl HaEH HEAT NS el i ASHEITa § STHRor w1 e 4 S 21 3Hy et o
T TSI ¥ @ B w1 ygih gedl @1 wE qeeias g9 Sia givea s @ fo sttt w1 fee
%4 F1 9 HaREt # SrEwdl § 39 w8 S e 2

I H H 391 & AR H G AYER FGET B fow TR wem F w2, 5 AeefieR wed
¥ undra dfaum ¥ difeas sfusdl # aed v 3 faes sfusr vem fra w2 v ® e ®
Rl #1 e % fou "aeafwR s w1 we w2

HfRYeT T TITECT STAYRON B1 THeR v eref B ® o ofR werifa g e
Tt Ty # frefafen wfRtem & aao e w faew € -

(1) T 1 A HE 9H AE B

(i) T I gfe & @il od wme =)

(i) IR BT ATH-F H F TR YN-SYEA A T A e

(iv) sTeudeas ot & feal =1 T 1 &

ARA 1 Tk e T S D STl sHte o ® T 9rd u sgedt 2w 21w ww e
Fl UHT I W T UW % A G A H O F9 9. fSu" 39 & U, sEved U HEER
ERIECRI

YA (or

U1 T 1 e efeer e oy R efur gR g W 3 @) adeH THg § eSS s
% AreAn @ o Frer § & forgy {1 v onn o s @1 ne ® 59 ol U@ € S At & e
ASH HT TR T 9 B YU T FE ST FA B T

IR H Y01 T W & FA 21 foheg 30 FFF F1 SR T U0H &l SN qE TH EIieh GHE
off B A WA-F GO SO f 39 g9 o SIevEE 2




Group-D SET-V 3k (Marks) : 17

3y (ECONOMICS)
Frifera agfamedta vl ¥ | wEt fawew =7 -

Choose the most appropriate options in the following multiple choice questions :

22,  Sud eifeR g e e S # 2 1
(%) 13 #4 (@) 17 5 (M) 15 | (=) 19 ="
When is the Consumers' Rights Day celebrated ?

(a) 13 March (b) 17 March (¢) 15 March (d) 19 March

23. faew & frm fast =1 ufa = oma weifus € 2 1
(%) T (@) v (1) Fewet (=) =

Which district of Bihar has the highest per capita income ?
(a) Gaya (b) Patna (c¢) Vaishali (d) Dharbhanga
forer woT &1 S 20 wreE) W F

Answer the following questions in 20 words :

24, =g fafea womett = 2 2 2
What 1s Barter System ?

et ot o1 SR erfirskaw 60 wreal H € -

Answer the following questions in maximum 60 words.

25, o7fee T e #ed € 2 3
What 1s economic development ?

26, TWoHoWHo =7 & ? 3
What is ATM ?

e gva o ST sifereRaw 120 vl H € -
Answer the question in maximum 120 words :
27. U T geemd fed wed € 2 3@ TR 9m § Sie man @ 2 auie i i
What are National Financial Institutions ? How many parts has it been divided ? Describe them.
A9l (or)
TEUET Fef frg yeR favas o Serd i uw-gE | Sed € 2

How is the production inter connected to one-another world-wide by the Multi-National Companies ?



22.
23.

24.

25.

26.

27.

(M)

(i1)

(1

(i1)

(iii)

ST (ANSWER)

rdymE (ECONOMICS)
(M) 15 9+
(@) T

g fafma gomelt # fredt wh awg *1 fret 3ol o # a<e STEH-YEH B #1 S & o 4 @
e, 34 | Tl age S

S fora R F ¥ & foas gr S § fe sreferen 7 wf SR 9 T T e
o gfg gt 2

T EF 39 Ao & GHE &6 § SeEeEdl ®1 S9 TR WK HET el ¢

TodtoUHo =1 3¢l & - Towiferd dor WeiA| 9Ra § Gft sye@ifys S % grn 78 giaen wam #1 T 2
% & gR fRu T wnfes & w1 g wE f G g Gt g € 5 e wEm % fa
d% gN wF Ta i o fam ma R

et fadrr weomd o 2w & forg s o wra AifeE w1 faio e e we @ qen ueE ' W
ford ware ® wE w1 GRS w2, 38 U9 fada g #wd 2

7 < ant o e T R -
AT {51 AR - ST 951 991 § SE0 Ud a9 ® 69 F {6 sTeusee Ud Aeashey fod #i
Sl UF WaeA A S 2

YT : YRA G AR S Gisa e e dn 6 fawfea fwen s 21 gnfeq &= | e
S fofl & & o 1 forelt S e ey i €1 Sl srEmfea e § <3t S fomw i) st faxia
Feqf wfd # S 2

AR it SR - AREAF Ioit TR GeAd: SEFIA Toit SUered et 1 Gefhre= Isi 1 /i 98-
SEM WA TE Gt i e @ faw g @)

T gFR T2 & fmfo § 39 fada geenst &1 Fret areE g 2
AU (or
TR T 1 TR W T SeIe i Th-gE | Sigdl © -

T FEE F BT R I 9% SeAed F ORI SE-URet T & (o 79SS I ki
e 7 Tl feram

Feit-wft SEUEa A 29 H EE HECE ® WY GY ©9 ¥ IR H ¢ 3HE A
Frfal it 7 qEAw w1 99 oo @ 9 agaa st s & fag IS e 2

I TEUET FHAT G B IR 0 B SARH 1 GEW ot 71 S-S, Jd, Tl FH GEH,
faeii senfs #1 e a<t Fem § B See! g fRar S 81 agua wrtE 3 SR et
g T 9 favasw § "=t 2

TH TE G FHEl % gr fave & -9 9% 9 ScIR i U S8 9 SE SE 9IS W @2



Group-E SET-V 3k (Marks) : 06

YT =11 (DISASTER MANAGEMENT)
Freifera agfamedta uoi § ¥ Wt famwew =+ -

Choose the most appropriate options in the following multiple choice questions :

28, ‘gAM’ fRw 9 i owex ® ? 1
(#) fet (@) usht () A (%) 3Tt
"Tsunami' is a word of which language ?

(a) Hindi (b) English (¢) Japanese (d) Arabic

29.  YHU-FH=% F IYARR YAl FI GAE W FH B w1 AW E 2 1

(F) = (@) A= () g%9 =% (%) 9@ H=R

What is the name of the place located on the earth's surface and just perpendicular to the focus of the

carthquake ?
(a) Centre (b) Epicentre (¢) Earthquake centre (d) Outer centre
30. o 9vd 1 IW 60 e A T 4
Answer the following questions in 60 words :
e (gaEe) & e & fau #=&n sum v sm =fen 2
What should be done to control drought ?
34T (Answer)
28. (1) AT
29. (@) A=
30. g@ ® fEm @ fou frefafon st fE Sw R -
(i) o "anE w1 St fawm T e
(i) “a faurer® &= =t fawm dsmed gr fgt &t T qon uyet @ fau omr w1 yau
(i) TNE &7 1¥dl el SHiA W T 2 gR Eee f9ed gere § 98 gHl fAuE % %W en g



Group-A SET-VI 3k (Marks) : 20

sfag™@ (HISTORY)
Frifera agfamedta vl ¥ & wEt fawew =7 -

Choose the most appropriate options in the following multiple choice questions :

.  F9F % @dadl GUH | fHEE e g 2 1
(F) et (@) % (M) ¥wive (%) TH
Who was defeated in the Greek war of independence ?
(a) Italy (b) France (¢) England (d) Turkey

2. WA | MeER & v fEw ad fwE o2 1
(%) 1755 (@) 1786 (1) 1799 (=) 1815

Which year was the Golghar built in Patna ?

(a) 1755 (b) 1786 (c) 1799 (d) 1815

el vl § fram s @ gid o

Fill in the blanks with appropriate words :

3. Huw fage = Age F e 1
The Santhal revolt was led by..............o

R RS RN - £ F feFam 1

The spming Jenny was mvented by.......................
T gl o1 3w AfieRaw 60 el ¥ § ¢

Answer the following questions in maximum 60 words :

5. wft@ w9 2 e sfrem ¥ 9w w6 foem € 2 3
Who was Meternich ? Why he is famous in European history ?
6.  wamafiw Rl Tmm ud wsle-eis % g w1 3

Describe the chemical weapons Napam and Agent-orange.
7. =R Heawe W et for| 3
Write note on Champaran Satyagrah.
et wodl @t S sifireRan 120 vl W T -
Answer the following question in maximum 120 words.
8. A Tl ARG H AU 7
Describe the Greek war of Independence.
HAIHT (or
YEdF B Ul | SHawEt @, 5eaw o ue weigl o i g wt e Hi

Explain the role of business class, middle class and labour class in the process of urbanization.



oW b=

ST (ANSWER)

gfagr@ (HISTORY)
(%) qHI
(@) 1786
fag ok #rg
S gt
Tfg Affean &1 iger o1l 98 =R gfafeEarerE on 98 TeaEl ud dlFaaeas e #1 #wg faust
oAl IEA AT H 1815-1848 F " TLAR HI WA TH THIA e H YA F1 TR ya fwam

FHifauHl faari & J6R & T4 & fau 369 99 W F2SR ufaas @l 98 Qe Saas] S W
JegeR off| T U HeX @ 1 $=1 Afqal 1 gem o

1964 Fo H AR g1 3O faoaa ® fFu Tu smeraw § waes aEtE efermi @ w1 fwan
ol 3 THEHS @Rl A 98l % AHg Sied U9 wEien] Wowd 999 9% 999 S 91 9 99 | A9
THE FTEE AE B 2 S owE § 6o & @y e T fHeo R w1 2 98 @ 9
fagerea So e Far © ofR faielt e = SeasH W 2

TSie-3iS U wE el o foww i w uft gow S of| sue gatenen #i F R JEE el

faer & =R foret # R faerel gr fram 1 oot g & 320 e W B w9 % fow faaw
S | T8 AR SAT Wl FET S o1l A wi et R & o JEameEe of, Fie suH el wi
39 wfE FH T S et SeEA w1 Staa IW it U TE et o USeRAR Y A TR | st
FI TRV AH T SEAV AT 1917 o H AT F fRoHl & fed § wwmor § AN wEen SomE
SR FAE SREE §%d @1l TS 9o §ara gE |

AN 9T TR Sfer & SeSg g g & o em i # e & faww | gt §
ff T & I H SR fwE gt  sus for fedfen s A deen it T @ gEe
" siieier & fou wemm ot w1 S%a @ g e

1821 o ¥ Uerasiver faufaendl & Fga W AW ¥ fage UR &1 7411 1822 H THIHT #9 TSR gAMHT
AR T T 1827 %o § @ GHOH | $IUS, HiE 91 9 4 gl $ fOE Y5 wEaE] w3 H
frofar form gt & wmels o o foe %Y g3 ¥ A1 35 o e e vgn 1829 do ¥ ufgama it
Y gR1 9AF 1 TWHETd W gEl 3Aad: 1832 3o ¥ IAM HI U TdA U "ifyd fwar wam s&fen &
IIEE Sfel’ H gAH TS A T

HAYE (or
IRdET A ° wEen: SEerh o, germ o e Aegy 9 # fae e g et -

AT 1 ;- YRR 7 qU-AU HEEE] U U SFGEE a1 ki S {E30 SHeEe | AR, e
1 forear, o2 T9H W qE1 1 "oH, o9 SF FE #1 ygfa 4 Y o uw favre sremeh ot S fran

egw o - A7 uw fafem ot en S gfgsiet oS ot weamn @w wem o wed o fafe= e F
T o, S-foess, asnfaE, awta, fafrces, TS, so=, e o) fFe we =1 yereE, faan,
fafercn enfe == = @ o em

HAG a1 :- YU § FHA-FR@MA T e H1 TG 7 SHH FH qAET FE W AR F A w2
e | gfafade Fuw ol %1 A vl ¥ gun vEd #1 SHeed § ged 9€l §ed gl #i el ¢




Group-B SET-VI 3k (Marks) : 20

10.

11,

()
(i)

12:

Wt (GEOGRAPHY)
Frifera agfamedta vl ¥ | wEt fawew =7 -

Choose the most appropriate options in the following multiple choice questions :

= ®H i @i TE 2 1
(%) (@) f (1) TEH (=) e

Which of the following is not a metallic mineral ?

(a) Mangnese (by Tin (¢) Mica (d) Iron

S I TETE ¥ fFE T wREE w1 O F R o ? 1
(F) W@ (@) wFm () R (%) foreré
Which steel company was established with the help of Germany ?

(a) Raurkela (b) Bokaro (c) Durgapur (d) Bhilai

W e A fa T w U

Fill in the blanks with appropriate words :

FAE T AR-TEE T T BForerionrrrecerrensrnnn 8| 1
............................ is a centre of iron and steel industry in Karnataka.

E ;| (AR 1 FHRE 2 1
............................ factory is located at Japla.

@ e #1 "™ 60 =l H A | 3

Give some significance of railways m 60 words.

e wyT @1 I stfieRan 60 vreEl H T

Answer the following questions in maximum 60 words.

13.

14.

15.

JHEETHIT F TRAE H W GAE IS F 2 3
What are the effects of globalisation on Indian agriculture ?
1 7o 1 S| AT 60 R H T
Answer the following question in maximum 60 words.
G- 1 g FEae HHE-FH ° R § 2 3
What are the different factors which effect mining activity ?
=1 997 =1 SR AT 120 v 6 R
Answer the following question in maximum 120 words.
I IEA 1 ygE drifes gwnet # 9o w1 9 § yqE 99 SweE &6 % A sl 7
What are the geographical conditions necessary for the cultivation? Name some tea producing areas of
India.
941 (or
T TS | GG F T& @ gHted aARe aun feafafea 5t smifea w= st Fife
(%) fr s s=m (@)HT SeaE &
() wER AR (w) foem i@ () TR 9@ FR@H
Draw an outline map of India on full page and mark the following by shading :
(a)  Gir National Park (b) Manganese producing region
(c) Kaveririver (d) Chilka lake (e) Durgapur steel plant

Had TAEM BEl & fau
Only for Blind Candidates :

faer o = g % fawm Wy e

Present a detailed description of growth of sugar ndustry in Bihar.
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10.
1.

12.

13.

ST (ANSWER)

gMe (GEOGRAPHY)
(7)) T
(F) TSTHe
() FAF ¥ AT SEn # B wEEd 2
(i) Suen # HHZ F FR@A 2
@ fEed &1 7ed -

(i) e i T SEmEEE SR T el
(i) 9% MM A FEE GE H 9REed G9E|
(iii) Tt fawma =1 smarfyen

(iv) oS! 9 ¥ SR I9a= FHIA

JHEAIFI F1 I2YF & TAR TS e w1 fava areddm & e
qEeeil F Fh | Frefatad gam @ § -

() 34 qEAE FITER

(i) s ® I=A-F9eNS fFE (High-yieding variety) 1 FamT|
(iii) FfH TR F TR 9% gAH & fau sfaw yewy

= faa &t frefafea sre gafad #@ 2 -

() @S T IHE Y gREre 4 F AaeR el
(i) wEEA H FeR 9 e

(i) WeR = A

(iv) T Hi ol

(v) @t fafu

a9 A & fou smEvaw Grifas e § -

(i) $=9 A9EH - 24°C-30°C|

(i) @

(i) TEh e ot foad ey, wieRRE, qew anfE w1 e @
(iv) =T Fu

(v) T ARl iR HIE FEUR 1 ST

IR W W % Y@ SR a5 § -

(i) SW-YEl IRG-THH, HEeE, 9fved el
(i) sfeor =1 @t em - afgerrg, F39, FHew
(iii) ST-U=T F TeEl &9 - SWEe ¥ tee, fauEe 1w # wire|




Group-C SET-VI 3t (Marks ) : 17

Treifa fas™ (POLITICAL SCIENCE)
Freifera agfamedta uoi § ¥ Wt famwew =+ -

Choose the most appropriate options in the following multiple choice questions :

16. forssdt faer & forg ot o frem 2 2 1
(%) wem (@) e () et (F1) TR
In which district of Bihar is Lichchhwi situtated ?
(a) Pata (b) Nalanda (¢) Vaishali (d) Bhagalpur
17. Trefafen 4 #7 *awda feam gfea = gga 3 9 2 1
(%) e e (@) we= foz feka (1) T T A (F) FYA S

Who was the maim leader of 'Indian Farmer Association' ?
(a) Rajeev Gandhi (b) Mahendra Singh Tikkait (¢) Jay Prakash Narayan (d) Karpuri Thakur

e up s st 20 ol 6 € -

Answer the following question in 20 words :

18, A SO W 7 ? 2
What 1s election manifesto ?

fret wva @ s erfeman 50 vl A § -

Answer the following question in maximum 50 words.

19. Tk TEAA S HEEA R SR R ¥k 2 3
Democracy is based on liberty and equality. How ?

20.  wmifrR fasr e wer wmifss fawrm & fon soert @ 2 3
How social inequality is responsible for social division ?

e wva o ST stfereRaw 100 vl H € -

Answer the question in maximum 100 words :

21. UM WAEd % & s v w1 oaoi w=l 7
Describe the works and powers of village panchayat.

A9l (or)

odfRde gRd Gfaam 1 erum favivar 21 4 2

Secularism is an incomparable speciality of the Indian constitution. How ?



16.
17

18.

19.

20.

21.

ST (ANSWER)

Trerita faa™ (POLITICAL SCIENCE)
(1) Vaislahi (Femeit)
(@) we= foe feha
TS % THA G Ui wifeat stoet fifee vd wriwnl & ar ¥ fafed w9 H =oon s #) 58 gt
HYOT-939 FEd 2

T 3R GOEAl dikdT B 4 Y9 SER € WdAd & fid 3w % geff Amit # ne w9 9
Al YEH R §| TEH A0 S Afieatad wt e, ety e S w@sa, 9ned s e
@Adl, Y-EaEE 9 Ud Ha€eR g & e

a1 Sfaum wifa, o, s, fom, s, &5 onfe faedt ff = W s @ fagr #1 SR w1

it fade ffyea dr @ gmifss fauee # fau ga &9 9 soee 21 gmites fa9g w1 ga R
S A S @1 YAw gus ¥ fye-fas o, 9, wifa, & & wl fraw e 21 fafasa |
TR T2 &1 foasivar 21 firg wefi-weft =2 fafawm o & foau s e S @1 Ted it s #
TR F¢ W 2| sHfae e fa9g w5 gara w5 E g e # U S1 g 2

T TG % FwE U e fefate € -

T
(i) dEma &9 % fawm # fau affs 9 e 9w @R s

(i) WFfaH AU ® THF GAISd AT Kl FEFA HEAT

(i) HESE FEafd H AT Ha w

(iv) TEias F@f o wfess geantt a5 1

wiferar -

(i) RGO T vl

(i) wHufa o1, uro ug faed #t v

(i) TAfIT M € 9w vE R GiEd [y 9 gersE oEm u| i #t v

YA (or

epifdera e dfasm w1 yge faviar 21 ardr @faum + e & fag frefatea smey
fuifea forg 2 +-
(i) XA = HE TEE 96 T e
(i) T AR H e ¥, qon-usfa ER FH R gSea IRAE GiEE g 2
(i) Tt off o =t werfasmar 7= < S
(iv) = o =afga wifagel €7 @ e o F1 TER-TER Y 9
(v) oI STHR W R Gfaum fEd o TR w1 dewE @ w o



Group-D SET-VI 3t (Marks ) : 17

3y (ECONOMICS)
Frifera agfamedta vl ¥ | wEt fawew =7 -

Choose the most appropriate options in the following multiple choice questions :

22, 9RA 1 HEG AF B T 7 1
(F) V2 IF 3w sfoea (@) ford d% aifw zfoen
(1) &g T S () gfn fawm S
Which is the central bank of Indian ?
(a) State Bank of India (b) Reserve Bank of India
(¢) Regional Rural Bank (d) Land Development Bank

23,  onférr guR (7€ enféem +ifa) =+t = fasioar € 2 !
(F) SR (@) fastem (1) dvatERT (1) T8 | Tt

What are the special features of economic reform (New economic policy) ?
(a) Liberalisation (b)  Privalisation (¢) Globalisation (d) All of these

A g s 20 o=l § § ¢

Answer the following questions in 20 words :

24.  TE I ufsm g 2
Define money.

T wwl = swe sifrean 60 vl W €

Answer the following questions in maximum 60 words.

25. woq fae w0 2 3
What is sustainable development ?

26. 39 Srww 2q fafv= AR fael 3
Write the different slogans used for consumer awareness.

et wom o1 S sifereRam 120 vl W T

Answer the question in maximum 120 words :

27. Tl 2w % onfdmr fam ® U o wd wfesfe o w1 A AEH © 2 7

What are the contributions of national income and per capita income in the economic development of a

country.
AU (or)
O ® girart gfaamd @ snuwym 2 #1 9ui w1

Describe the basic amenities or infrastructures in India.



22.
23.

24.

25.

26.
(1)
(i)
(i)
(iv)
v)

27.

(1)
(i1)
(iii)

ST (ANSWER)

rdymE (ECONOMICS)
(@) fiord a4 it e
(7)) T | gt

g1 9% ¢ foaes g0 awgetl ud danet 1 wa-fawa fe S g, erefq gE1 9 o) w@ 99 wra
STt &1

o faF® o 9 ® 9%, TS 9 ® 9% 39 fawm ¥ 7 wad gdum uiel afek qret W & faw
1 ot e war S 2

Iy SR 2 frefefea W € -

ST WEF S

T, AEH|

TR SAfersrl w wEEE

T st € e e 3

EREicailicak o i i s Peanica fe e

fdt ot w2 # T @ fau=a g= @ @ w5 ufa s o W U S ® gR1 W ST 2

qATHE q F GAF 29 ATH-3 qhd ¥ o w5 A a2, frme wer 1 5 Sversd
AT T &A1 S TR S A WK HE Bl 21 shs fon frefataa w5 e W € -

st fasm & & ® IS faf@m & 5/ IR gom fFa s 2
AUSIR 1 TR e @S9t o # gfg gt 2l
M # 9fg BH W ST Se-TR Ued W1 oTde sl el B

TEd SR G fafm | awgeti @1 wift sared gim 21 58 v ufa s o W aee e H
s o 29 = enfé T g 21

AUl (or

qrd § g glaemd steren smuReE 2 ‘O # w3l ® guH 21 5@ fa fawr # wew T

F S Tt B

(1

(i1)

et gfaemd a1 STEReE 2 # S 9§ ste T E W fefated # -

Sk SR W= - 01 Ty Yoaed ©9 9 e fahm & el 9 21 39 stwvia frfatea i
aftafea fan sm 21

(%) fag - dfwn &, s &= ef

(@) St - wEen, faga, i, Wi e

(1) AEE - E@d, "EF, T, TATH|

(9) H9R - e, a1, feawM, Jefbar, difear wd 3=

TR-2Noh SR WAl - J8 SI9cdel ®9 § A i &l U9 SqEA § g w o fawm o
YEFE Y Rl &1 -, e ud amifes gend gey)



Group-E SET-VI 3k (Marks) : 06

YT =11 (DISASTER MANAGEMENT)
Freifera agfamedta uoi § ¥ Wt famwew =+ -

Choose the most appropriate options in the following multiple choice questions :

28. 26 fagwm 2004 F 9 QAR § R F FE-A G0 SAQ gfad gom on ? 1
(%) frrm (@) @E () 7R () T 9
The tsunami of 26 December, 2004 had mostly affected which island ?
(a) Nicobar (b) Lakshadweep (¢) New Moore Island (d) None of these
29. 1954 § 9RA §R A 9@-fEm % fo fea wer #1 gieEn 59E of 2 |
(%) 2 (@) 3 () 4 (%) @ o T

How many Flood-control programmes were made by the Indian government in 1954 ?
(a) 2 (b) 3 (c) 4 (d) No programmes were made
30. 7= w9 1 S 60 =R H R 4
Answer the following question i 60 words :
I-TEeH 9 FH F Y SIE Fa|
ST (Answer)
28. (%) FremEw
29. (@) 3
30.  9-TEeE F9 wH % Efated ST T i
(i) = SR W s T s
(i) @] SHA W et el
(iii)y 5@ w R w1 qu eAm e =t
(iv) e TaF & 9 9/ W 99Ea ey 99 3 =@eu



Group-A SET-VII 3k (Marks ) : 20

sfag™@ (HISTORY)
Frifera agfamedta vl ¥ & wEt fawew =7 -

Choose the most appropriate options in the following multiple choice questions :

. HEETE YEA i OYESTd FEl g 7 1
(F) ST (@) 9 (M) Tl (%) grervs
Where was the first communist system started ?

(a) Japan (b) Russia (c) Ttaly (d) England

2. EE H HOWem §di FUSH A #I T F9 g8 7 |

(F) 1860 (@) 1885 (1) 1854 (&) 1890

When was the first cotton mill established in Mumbai ?
(a) 1860 (b) 1885 (c) 1854 (d) 1890

wet vl | e s @t gfd & o

Fill in the blank with appropriate word :

R - | S 78 ® gE gaml 1
Kheda Satyagrah was started 1n...........................

4. TIT-TIR TRCT B HETHerrronsecrrrecrrenesesenens S 1
The founder of Hoa-Hoa movement was.............................

T gl o1 3w AfieRaw 60 el ¥ § ¢

Answer the following questions in maximum 60 words :

5. WEAT R W G feoht faw 3
Write a short note on Simon Commission.

6. vl 7 R 78 wwens @ 5= fa 2 3
Which type of new problems are created by urbanisation ?

7. S ® 9RA W Y@ H 90 3

Describe the impact of globalisation on India.
1 woat @ s sifireanw 100 redl H E -
Answer the following question in maximum 100 words.
8. O den T Sfe # faeae w1 v # 7
Clarify the differences between rural and urban life.
HAIHT (or
ARG T HS H e 5 ol § g8 2

Under which situation, the Indian National Congress was established ?



oW b=

ST (ANSWER)

gfagr@ (HISTORY)

(@) &4

() 1854

1918

TEe T

1919 % 9Ra ifaf § =g yaeE o o o 6 10 9 % ) gaufie gur & fow uw s &
e fFa w1927 o H TR S WEHA i A W UF A 1 TS A A g8 A 9h
Teef o food w off ardg 8 9 O | 39 9| F U9 o T 9Ra % wenes & gay o foy
IS w71 IR 3 WEEd, 1928 H UEHA FHIYH & dEE Uged W kel wel fTEe fauy
e

TEHIOT T FHE T8 THES! I T A el H AfAHl F a@dt WeA 9 A" ® g9 Fi 39 A
FREM HifeTsh! gRI SUeTe HULT T qFe J9HT, a1 SR THT F AAE G S 4 e gef
qrenfE S e vl eTadt sed @ Seil i U] 96l Hora®y S F -T2 ygfad #
S gam @ & Afaska § g o gam

JHEAFH H IRA W 91 AUF Y96 TSN 97 § 92 T W farelt ¢S e gam wE sgusia
FHUCTE T TG H ST G| Y &, A, T e, A, GE AR G9R £ %1 i ga
Terd: S @ Sl USHR SUeTs geNl fafay y#Rr % qorekaEa Susea aMiEl w1 9NR 5 Sues
¢ e ©d WEem & & H 9eadl STE| AN % Siad W A HIE gER ST

TreioT e FE Stad # foeand fre & -
JTHOT ST -
(i) TiEl ® EED ®wH e
(i) Tiial ! TEEEAE EE F AR F EA F0 T GYEEE S e
(iii) TIie =1 YRl SAERo @es g 2l
(iv) Tiat o foren, e wd uftaes gfaast 1 sucer #9 e 21
(v) vl H emfRd F1 yWE AR 2
ST (or

AR T ST=Ier %1 G 1991 §6t & 3ifqn 29 o 9RdE T SiE S T § 9 S 2
FHUH I TG F TR A HE WS eEg T W wE W E© ¥, S9-3fedd @EE, o geed
S, afE TEIfEE g T wiE i sifae IR T w1 "@hed @ onl 1883 So H 2w Hied
A 7 FHARA H AEA FHE AH F TH SfEd GG HISA 1 THGA Al THE IevF o qff
TarE) VIRl 1 T2 T U STaehm e fafee sifesrd Tosflo gm 3 +ff srgqee Iegarfal 1 wh
e T H #1 v T 5= fafew wada afafa &1 O auels ra em ofma: 28 TR, 1885 # ORdE
TSI FHG FI TG HY A9 T THHRT T F IeAR] TLHE =0 w72 T T g2l



Group-B SET-VII 3k (Marks ) : 20

10.

11,

@

(ii)

12.

13.

14.

15.

Wt (GEOGRAPHY)
Frifera agfamedta vl ¥ | wEt fawew =7 -

Choose the most appropriate options in the following multiple choice questions :

Faen g TR w1 gaeE € 2 1
(%) SFErFR (@) TEFwTa (M) S (1) e
Coal is which type of resource ?
(a) Non-renewable (b) Renewable (c) Biotic (d) Abiotic
Hriisw 1 g s famn 7 - 1
(%) Heum-F=MER 59 998 & g 9 § (@) ge@d o
(1) ufvem 9@ W H (%) qarm T H
Mangrove forest cover a large are in -
(a) Coastal region of Andman Nicobar Island (b) Sundarban
(c)  Western Coastal region (d) North-eastern states
Fill in the blanks with appropriate words :
el o RTSCR— aenfed s@ 2 1
Cotton textile 1S....ooevvervrerrnrienes based industry.
e TRe % T BeR fAf W L F foam em I
......................... developed the hachure method for relief demonstration.
=1 w9 #1 I Afawan 60 e § F
Answer the following question in maximum 60 words :
ARG F F 7 Scaewa # Tl =9 FRol # Seer w1 3
Mention any four reasons for the low productivity of agriculture in India.
o1 e w1 SR sifyman 60 s H
Answer the following question in maximum 60 words.
T W@ U i SgSeEia F i FEl S T 2 3
Why river valley projects are called multipurpose products ?
=1 we *1 SR SAfuEan 60 = H R
Answer the following question in maximum 60 words.
F W emafa SEm ¥ Sy gEer ¥ 2 3
Whot do you mean by agrobased industries ?
=1 woa =1 I ey 120 R W T
Answer the following question in maximum 120 words.
IR # el T I F A0 7
Describe the cotton textile industry in India.
AYA (or)
T Y W GRA F TF @ qEta s qun fefafed s emifea wam sifea wifee
(F) TR (@) g (m) fae=r IR ICE (%) S-=feror nferm
Draw the outline map of India on full page and mark the following by shading :
(a) Kanyakumari (b) Mumbai (¢) Silchar (d) Porbandar (e) North-South corridors

wad ATEH BEl & fag
Only for Blind Candidates :

AT % < ST w1 faERgEE g Hifeg)

Explain sugar industry in India.
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10.
1.

12.

13.

15.

ST (ANSWER)

gMe (GEOGRAPHY)
(%) o
(@) gaed o
(@ F
(i) <reEH
IR FH F e scacwa & Frefafed o € -
() A e WA wem
(i) TWREE TE | FH wEm
(i) FW F AHF qHAEH q THAME IaF H FH FA0
(iv) SHEEn Sfu® g9 % R0 fHaE Fw

T T AiE T WY S SEEEl I w2 5h (A 9 orw wedl i uw W g A
W ekl 2

TE AT F1 o, g FEn, g-eTRed i YA €1 SE HwRo1 A S ufEie 1 agseeia ufEer
FET o 2

F W eI ST FI Foal G F0 Y G e ¢ F ena S@m & st gt o, aet ad,
2, S o, Wt g, HiH SEn onfg e € sed YR # SR Wi g

IR H Gl A I W e @ fashad 21 98 F % 9% ISR UEE F a9l 0 ged agl e @)

AR H Y Tgelt Yot aF AN F T 1854 o W Hag H A S STEX GRI TATUG i W
29 T AR Gt e ool weRTe, ToWE, ufvem S, SW R 99 dfferrg ¥ S 2

Heg ! At FIS FI TERI FHET S €, FA(h 8T TR F AN TH = gt g% T9R
v 21 foega SR, Ifeed, S qen faga gfawet 3 39 § gt aw sam & famimo § seeyt
ftrert frurd 81 Fqol G § GA I & AR T Fed WA F A9 g U T EH F FHRO1 oA 79 @
= AT fash=ieRTor gam 2



Group-C SET-VII 3k (Marks) : 17

Tertta fa@™ (POLITICAL SCIENCE)
Freifera agfamedta uoi § ¥ Wt famwew =+ -
Choose the most appropriate options in the following multiple choice questions :

16. 9 H fFE YR # e usfn wm R 2 1
(F) Tk el e (@) fase oo (1) FEIEAT TN (F) TH W FE R
Which type of party-system does India have ?

(a)  One-party system (b) Two-party system (¢) Mult-party system (d) Non of these

17. had I THA F TF SAEIE I HE 2 1
() ferem (@) @ (1) TR (%) WA H e
What 1s the essential condition for a successful democracy ?

(a) Education (b) Health (¢) Employment (d) trust in democracy

e wo @ ST 20 TRl W |

Answer the following questions in 20 words :

18.  TSHfaE T@ 1w ) 2
Define political party.

et ot o1 SR erfireRaw 50 vl H € -

Answer the following questions in maximum 50 words.

19.  ATHETashar TsHita i gofed Fl 2l FY 2 3
How does communilism effects politics ?
20. R T ® o™ % Y@ WA SH-%E € 2 3

What are the main sources of income of Municipal Corporation ?
e e @ ST arfaeRan 100 vrER § ©
Answer the question in maximum 100 words :
21, iehda 79 W SWIH T 99 TR H ST F T ? 7
How does democracy establish a responsible and valid government ?
AU (or)
faer o gU 8@ oT=IeM ® YHW FRON & G

Describe the main causes of Student's movement in Bihar.



16.
17.

18.

19.

20.

21.

ST (ANSWER)

Trerita faa@™ (POLITICAL SCIENCE)
(1) wgacita =aaeen
(%) rwad § e
ToAfdF 6 IEr a1 R AT F1 TF UH 9ge S AeHiaE R % weam g g g R
el 31 3 gE H 9 o) €1 srof-erol wiféat Al w@ weEws #oswon s # e #ww@ )

Tt Terifaes faarem st o 9 §aifad 89 @ @ SrEgeiiashar 1 99E TeHia W R €9 9 ity
T @ @1 weft-weht u g foe @ fedl w1 @t wSfaum % suEl & faeg SR e ford s
&1 Ui <ot g § s ot TR fasty & @i o ma eifie w@ @ fou anEitis w5 e
F TAE FW

TR g 10 o Wit % fau %% 9R #1 # o 2| fafe= TR # # Se-g@E #, 5 &6,
YT #X, TR X, T w5, e w, Sen-femm #w, wifén w anf

TR T F T F W u FA o T F9 g @ s wE wed 1@ = wan safae
YRR GHA-F99 T 31 3R 2 fom & o & 9 et 2

dikd o frafe g sE-wfafafeal & memm @ faufas &1 127 @ 21 faafa o sgaa 9 wfa &9
% AR FE H 9w FA F A SETER F #)| el e | wRl 1 A8 S SRR
2 o5 wea o wiftd =iE «ff faofa 39 it g 2 fea-fr eed 3 vear 1 faue o o1 fomm @@ srermn
Ha fau) st @i fiz difen wd seeifen Hifem = e | g fofE w ==t w1 g9 € @ik g9en
F1 el SHeTREne % ey i % fovg w2 4 gew a% faUy # "R SO g S 1w
UE I S ARG % A H 1o ol ager o ugd €1 39 YR oliehd s Uh STRERT SR S
Fl B

HAYA (or

1971 3o % M TAE & =I5 F5 GEHR Bl AHITSH-AF Aifqai & awdra 5w § =) fwwen &1
e a1 = e et yRonféEt # aoe @ feufd o oft waEe @ T el R W ad 1 F
¥ eenfym gfg gl 1972-73 3o H WMEA HI ATEAA A 9RAE FW F HEH THEAE g
aRoTTEEy gequl 39 § STEdN #T HRle S| ol 6 1974 fo ¥ faer & wni 4 wen % faes
A=A B faan Sagwe TRE F AfEwd R ¥ W 9RG § 78 A= heA T




Group-D SET-VII 3k (Marks) : 17

3y (ECONOMICS)
Frifera agfamedta vl ¥ | wEt fawew =7 -

Choose the most appropriate options in the following multiple choice questions :

22. frefafed § 7 @ o § fufyg sreferoren € 2 1
(%) ewfE (@) = (1) (%) grefe
Which of the following country has mixed economy ?

(a) America (b) China (¢) India (d) England

23, ANG ¥ WEHIAl S F9 Y g3 ? 1

(F) 1904 (@) 1905 () 1907 (31) 1909

When did co-operative movement started in India ?
(a) 1904 (b) 1905 (c) 1907 (d) 1909
et wwt =t 3R 20 v W ¥

Answer the following questions in 20 words :

24. foda Geu™ @ @ 9Wed € ? 2
What do you mean by financial mstitutions ?

forer gt s sifireRan 60 el W € -

Answer the following question in maximum 60 words.

25,  EveltRROT, TErE qen fasfEter it AifeE w5 ufomm 7, #9 2 3
Globalisation 1s the impact of the policies hiberalisation and privalisation, how ?

26.  SUNIEN ® FHA FE ? 3

What are the duties of consumer ?
e uva &1 s rfaean 120 v A €
Answer the question in maximum 120 words :
27.  faerR % o fyedw & =01 wn0 2 2 ovfF &) 7
"What are the causes of economic backwardness of Bihar ? Explam.
AU (or)
e F1 E TS ST SNHR 1 9

What is credit and what are the required bases for granting it ?



22.
23.

24.

25.

26.
()
(ii)
27.
()
(i1)
(iii)
(v)

v)
(vi)

(vii)

(1

(i1)

(iii)

(iv)
v)

ST (ANSWER)

rdymE (ECONOMICS)

(M) 9Ra
(F) 1904

foriar Geond Hifser & o 391 st ToF w1 UE Weensti i wed ¥ S A wi SEvasaeh w90
?q 9@ TE qE Gt FEl F1 gmed w2
AR 1 37 THR GR T ¢ Gff v o qen gfassi #1 ger @ ud fsfiwor @ e
frsft & g w8 % sedl ) gof 9 9 o enfieE w9 9 w@ifie e w1 2

IR0 Td Ffieor & wRo1 € Avdie o & aaia fafa= e & ofte oegel e dene, st
3R FEifTet #1 SRE-YEE B @ 2
SR S FE o] SRS @ 4 SuH wp Freifated wher ff g1 € -
e 39 %] H iR A
oE IR & O, S, 7, o, e us sud w5 sifim fafa, méardt tw st w s 2

T WY E e H A S SEouHes o, Wi, e Ud eferm w1 e off 2@
fireR % R frosm & Frafefar w1 ¥ -
srefus SHEEn - faer #1 sHen afus gH % Fr0 faer %1 faem oSt @ 7@ e w @ R
anenfid G 1 e - et off T % foer & fa s wEA w1 AeEE g wed @ elfed
faer zq 9w § 9 2
i W fasftar - faer 1 srdfereeen ¢t @@ @ i w feft 21 =i =1 v et & 2, 0 wror saeA
w9 Bl 2
qE A g ¥ &fd - faer § weer 3ud faer | a1g qen sfalt faer & gwen =t feafd 1 9w g
T T vgar ¢ o wRon faer w3 fefa S T )
TR - foeR T % Amel ¥ 39 o @ WM W 21 39 don ot faer fuser gun
st frwemm - faer & sam o= =t w1 w6 ¢ f59 SR 781 § w6 gem ¥ an g I
H W & F R
T fafy sraeen - frdt o 391 o1 w9 % fog wifa qen goraeen st g 21 faer & e fafy sreeen
f foem #1 vF TeEyyl Hror 2

T4 R faer 1 onfées oraeen 4 @ € fms FRo 9w o foser gen

HYE (or

URE 1 W HO1 AR A1 A H R emar § favard € g 2
U@ F q&T eER e ¥ -
fowarE - 9@ 3 e A IR SUR 3 H adft T9R e @ 59 S favew g @ R it ' W
T T S
I - 01 3 1 YR IS oft 21 AR ot SfeEe e $aEER ® df S§ W faee | #E werE T
Bt eifere SfeE =afamal i ®E off 801 24 1 q9R 7@l e
IHEMA F & - HURE fEE afE B SR qed a1 @ 99 59 99 Afe & e S #amar W
fervara grar 21
TSt e gefa - FoEmEn §S qen g & enuR W R < 2
FU1 HT Ef - HURE FEEET B0 A F sEeM ¥, #hifE 3% die Tl ¢ fE e § wmon #
ere, = iR enféer feafa & aftads 9 &1 sy

TH YHR @ & SWE AR 2



Group-E SET-VII 3ieh (Marks) : 06

28.

29.

30.

28.

29.

30.

YT =11 (DISASTER MANAGEMENT)
Freifera agfamedta uoi § ¥ Wt famwew =+ -

Choose the most appropriate options in the following multiple choice questions :

freafafea o @ fag 78 =1 ‘faer = wiw’ w21 <@ 2 2 1
(%) T (@) TeH (1) I (%) g9

Which of the following river is called 'Sorrow of Bihar' ?

(a) Ganga (b) Gandak (¢) Kosh (d) Punpun
HETR % el W B 91 F99 1 R AW W S S € ? 1
(%) Y (@) =Fam (1) g (%) T ¥ ®E TE
What 1s the name given to the vibration occuring in the ocean bottom.

(a) Earthquake (b) Cyclone (¢) Tsunami (d) None of these
7 999 F1 IR 60 T==I H F 4

Answer the following questions in 60 words :
TR T W o T e € 7 UgE sEaE @l & A fafey 2
What do you mean by Seismic Waves ? Name the important types of Seismic waves ?
ST (Answer)
()
(M) g
THT % GHA ISAE HIH Hl GHET W wed €1 39 qeFa: weths (P), i (S), e € (L)
T F dfer S 2

P AT GaH Uee Yedl i Gae W TEHdl ¥l S TUT STYE W € SN sua! A w9 et 21 L
T I el Gad HH el 2



Group-A SET-VIII 3feR ( Marks) : 20

sfag™@ (HISTORY)
Freifern agfamedta wol § ¥ Wt fawew =+ -

Choose the most appropriate options in the following multiple choice questions :

1. e wewms & v e #i? |
(%) wewAr T (@) 9 fde (1) do #eA Higd e (91) TERER
Who established the Hindu Mahasabha?
(a) Mahatma Gandhi (b) Bhagat Singh
(¢) Pd.Madan Mohan Malviya (d) Chandra Shekhar

2. 9RA H UECT DG FHEl IR FIAT? i
() e (@) s () = (=) it
Where was the first printing press started?
(a) Calcutta (b) Agra (¢) Bombay (d) Goa

we vt @ fam e A U

Fill in the blank with appropriate word :

3. T A STRRITT BT TG coovvvererrsersssssssssssens 3 foFam em |
Tana Bhagat movement was led by ......................

4. T BRE F A HE.corcrmenrcrsensersenn ol 1
The author of Das Capital was............ccceveeiennee.

e woet o1 ST arferRan 60 wreRt W ¥

Answer the following questions in maximum 60 words :

5. omfe ¥ feg-9m o %9 ww fEan? avE i) 3
How had America entered in Indo-China? Describe.

6. Toarra sT=iem ¥ o9 w0 gEed &7 WSt 7 3R wHeA w4 3
What do you mean by Khilafat movement? Why did Gandhiji supported.

7. gAGH HIGH HTA HA TG g7 THE FA1 Igd U7 3

When was the Minimum Wages Act passed ? What were its objectives?
1 v IwE sifereRaw 120 v W €
Answer the following question in maximum 120 words.
8.  vuM fova 9% 7 9RdE TF S=ier w1 w4 SeEn 7
How did the First World War helped in the growth of the National movement in India?
AYET (or
A S Y T e W AR et

How did the Indian press affected the National Movement in India?



(1)

(i)

3T (ANSWER)

(1) do WA HEd Wi
(%) i
A ST
Fe AT

smfi fee—<i9 ¥ 9raE & 929 999 & U & U yoae ey w1 Afa oo ) faeaam | g
fime 1 ®9 AR gHeH 2 @1 91 SHa GEEi % aRoTeEEy 39 e et w el afeoi
o wig-smfe gafda WHR 1 9 gen oei iR S § e yud Sgd € S @
o1l et fedt ff #ma | fT=-91 o 9rER & YOR & T =@ed ol
gom favags § &1 &t WA & 915 9% 9igsd #i faufeq = fE w1 W € weltw & 9% # A
TS F 531 T 9RA | Gl AT i T U TelE & 9% i YA & foan femrea <o
R g

HETH e R § IS % fovg T g€ SH-sTaied YRY wE Aed 9| 39d fow 3% fegatt
SR qHEEEl T WY WA AT A1l ThAU S feerwd sr=ed %1 gne fa
IRA TR 7 HOGY H1 &9 H GUR oF IR 37 AR ° i % Seed W 1948 o H A
gl wEA wia

1948 % A N HB M § HoIgd HI & [e=a F T | Jom goesa e 6 39 @
T fadra deadia e ® T fm o fE gfael @ Seaet a9gd s B R IR et e
& stfaftaa ft s frarhemt & fow s=d & 9% gdia doadia Fnm § el o Tenfa fFa m oiRk
TE e wt et et T
wom fovags 7 YoIe A1 SIyeael ®9 W GNA UL e %1 guited A 98w are fafew aggett
1 ST & T ATl THY TG IRl B w1 g WY I FEIE & g gRfefaEl aga
T aRd et | fadelt segel W i e Yo o A WER ¥ F TER G IER S
F AR ARG SERTAfaAl, Sl 4 Uk U SR ) STEvgsdl HegH

vo favags #t T & @15 fafest @R 7 1919 To ® Uele wa @] fFam =7 & foiaeaey
13 3THe1, 1919 o &I Sferdiarell w1 TS §I SIS & 37 HTHRI Afaal 4 AR 1 &id 3K
ST § WY T

g favags H 1 SHA &1 UG98 TN el S el AR qEeEHl § 98 TE H 99R
TN T AR ufifearfaai § were e F STEdn K YRH w3 & U fawa

et (Or)

AR UH A TR [T A= B e gwr gefaa e -
UL =oM% SR 9RAE 99 T daiel ©d g9 GUReE! gR1 "o eid O 59wy 9
SH-SITROT heA™ 1 % fEAr S e
Y9 & e | fofeer wen # guasn Aol w1 fauy fma s om

(iii) 9RdE 9= 7 U= g feu w1 @ onfefw wiwor wi 39rR fwem um frswrm #@t Aifa w g e
(iv) 99 % Aream § 99 § o s{ufavardl ud yrEvel wogsnEa fEa

(v)

AT 99 7 fegstl 1d qHanE & o9 Tl wfd S W SRR "eEar



(vi) 9RAE 99 3 Ju-0 fq=ri i S9=rE), 1ial, Feal, TUER 96 ud ufenet & oead ¥ e 996
A

(vi) U9 & A § Fifaer fT9rl & 7| §9 § YER-YER fFHar S e

Group-B 3 ( Marks) : 20

A (GEOGRAPHY)
Freifera agfaemedta wodt & ¥ W& fawen o ¢

Choose the most appropriate options in the following multiple choice questions :

9. HaE T w ufws 27 |
(%) we & fafm 3g (@) 99 IUs FREF 2g
(M) = e ¥ (%) e A 2
Mumbai High 1s famous for-
(a) Export of Coal (b) Oi1l Refinary (¢) Mineral Oil (d) Atomic Energy
10. foer & 7o gr waifusw foe frm foet o et 22 |
(%) T (@) HaH (M) T (%) ufeem =owo
Which district of Bihar gets the largest irrigation facilities through Canals.
(a) Rohtas (b) Siwan (c) Gaya (d) West Champaran

(11) W& o=t ¥ ot ol vt ofd ¢

Fill in the blank with appropriate word :

(i) o T HEF FTTF oo TR H feom 2 I
Sanjay Gandhi Botanical Garden 1s located m .......................... City.

(i) 'V' AR T S H T T G TEE e s ® fowan s 2 I
V Shaped valley 1s formed by a river inits ........................ stage.

et wgAt ot ST arfireRad 60 Yl § @ ¢

Answer the following questions in maximum 60 words :

12. @HreT Hf 9 A9 w1 guen €7 3
What do you understand by contour farming?

13. wEd & fafa= yrl =1 soera 2 3
Explain different types of Coal.

14. @@ fog =1 gRenfya #1) 3

Define Bench Mark?
e wva o1 swR arfareRaw 120 vl A €
Answer the following question in maximum 120 words.
15.  9Rd & HH 3T H 90F H 7
Describe the Cement industry of India.
AU _(or
R YB W 9RG FH F @ HEE Ay e fFeEfateaa w5 emwifed woam sifea s
(F) T (@) Hag e
() HTER (&) = (%) ot
or
Draw the outline map of India on full page and mark the following by shading :
(a) Narora (b)  Mumbai High
(c) Mangalore (d) Barauni (e) Neyveli
Sl






Shae A Bl @ fow

Only for blind candidates.

(9)
(10)
(11)

(12)

(13)
(i)
(ii)
(iii)
(iv)
(14)

(15)

faer o uM 1 wEe % fou sygs dnifas e w1 Seom i)

Elaborate the geographical conditions available for paddy cultivation in Bihar.

EAiLY
(M) @St e 3
(%) ga™
(i) T
(i) FamEen
e Fi- qerea HY Tl &6 § o #) verel 6 o vl s Wi wew %2 A it

T S 21 e 9 W ghes W o & S @) gue w5 ger saed w feta s f
greerelt g W G- gl Fer, ste &, gHee dfEE # e w1 2

FITA FI KA KT AEN F IMUR W IR GO G *jer w4 E—

TYEES FIqel- T8 ared il &1 wEa | f59d S &1 °61 90% & s g 2

fagfoma Fraen- a8 HT F A= 70 ¥ 90% T Bt 81 UG H1 SRR HiFen sHr Avit w5 2
fermee wigen- a8 =1 Fife &1 Fgen aw S

e FiFen- 399 w6 30% 9 FH T S L

o Tag- arafas gdem & g god, o, T, TRl S8 R aggel W 9gsda 9§ 9t 7 S
wefyfa & gt fag =1 9o 9% (Bench Mark) @1 ST 21

TAfaT W U8 9% #1 TR 0 & 60U 98, B dua il fFHH i e ° famn 9

IR fava 1 SO0 Gad w1 W SEE <9 31 T8 W I TER & G H1 S el 21 SH-uidele,
qE Hife T aE U FeS 9 % e ety e s e




oY Uge HHe AT 1904 3o H =% H wenfud foRen oS vRA ® 159 9€ qen 332 @ ot
T Az g 2
AR TiHe T H faRen § wEl 2, w98 w9 e AT g g1 @t 6 afe @ get
e § T B 39 9T 9RA § 20 A oA Hie yiadd Seaed @ @l
Group-C 31k (Marks) : 17

TeHita faa™ (POLITICAL SCIENCE)
Frifera sEfaeredia wodi § & @@t faemen = -
Choose the most appropriate options in the following multiple choice questions :
16. frefafed & @ ®F TG TEE-awn #3599 1@ 7 I
(F) T T (@) srEvesd
(M) wW w EEE (9) SR

In which of the following is not the objective of Federal system?

(a) National integrity (b) Indivisibility
(¢)  Decentralisation of power (d) Communalisation
17. faer & wqoi wifa =1 @ fe fawan? 1
(%) STAGHR A0 (@) ARWST 3498 () e /AR (%) ] TR
Who Led the "Sampurna Kranti" in Bihar?
(a)  JayPrakash Narayan (b) Morarjee Desai (¢) Nitish Kumar (d) Lalu Prasad
e ool a1 s 20 W W T
Answer the following question in 20 words.
18, WA TS e #4187 6 fEa w8 2

What is Panchayati Raj System? How many levels it has?

Freifera woet a1 SR 50 wreal # €

Answer the following questions in 50 words.

19. THHF IMEA LA TG Teig e § = T H1 3
Differentiate between unitary and Federal goverment.

20. TSI Al I gHERN 99H % fau Fi9 U+ gae | faw 3
Give three suggestions for making political parties more effective.

e wem o1 S sifermam 100 v W F

Answer the following question in maximum 100 words.

21. Tl faes okt =aeen & fon T 21 e & e o 1) 7

Social diversity is harmful for democratic system. Clarify with example.



16.
17.

18.

19.

20.

(i)

(i)

(ii1)

21.

AYAl_(or
faer =1 wirhdie At &1 av w
Describe the democratic challenges in Bihar.
I ( ANSWER )
Tt fa@m™ ( POLITICAL SCIENCE )
(%) SR
() SAGRERT TAT

T T 9T T WA S F w1 UEHd U9 SAate FEd 2l 39% o W1 B- U W W
UM 99Ed, JEiE T W g9 qiafa qen feen & w feen afwg)

THTCHF TG S § WG F $% (60 UF & el B1 T8 SIeAacs wrEe o ot Fel S 2
T A TR F Sarid € WA 6 T THERAT w1 Hl S

Teftg e § $% U6 T4 ® 7 SAfUER 1 S TR S el @1 g i SH-3T &E
¥ Tl 9 el 21 e ol U T % AfUsR e § ewed e s

TsHifaw Tl 1 guEeTe a9H % 9 S frefatey §-

TA 98 FA - WAHE HNEA g A T A g96 FHMEA F T G A1) w1 arfew) 3699 fAfeq w@ned
% fou =@ ufEas W a9 TR oW hm|

AR A il T~ qoHITas Sl 1 37991 T dfge™ g wifen) 3 Jum@Ema 19w girefas
WS 1 A FAQ AR G H UG W A 1 AR IS FHAC

=t fofal #1 qem-TeHifaE Sel wl AEed & MUEl w1 SEEEE e S =i

gt fadal &1 Al e W YSAael Y9E W T g el ¢ 5 S wmites Ay

T W BT B S @ 9 i sasen ®1 yaq & s 2| fed-fadt ermaitie srewen § &5,
T, W, THEE, o6, 9 anfE o aifees fase den fren S 2

amteeR fa9g 1 qd9e ST dieisl € 8l el S TEE Hi ol od G99 a6 6 S i
fearfa o+t W@ Fieenfaen & o ok Wit % wwifes fads 3 woHifa 1 5@ FR gafaa fwan &

spiefen % e § A

31t (Or)

faer o %% WHR &1 SArwaiten gAfaal faeme € Fafa froe uF gve § w1 gur e €, {6 o ersh
% FAIGAl AR el THAH e @ 2| faer § Sifaar, serr, wiaram, s e,




To1eT 1 STHE, STHERSEY, Wt Sugy e g Hieg €

T THM A % TSR feR Sfte % g 89 § Wi # @1 8 WER w0 fawe %
iR waerelier 21 faer &1 fodiw T &1 <=1 37 =1 6 amaR = S @ 2| e € faen = fawwm

F TH W AWM wed % fau At gared W faem am e
Group-D 3 (Marks) : 17

3IGIME (ECONOMICS)
frerifera agfasmedia uoat § ¥ Wt fawew =

Choose the most appropriate options in the following multiple choice questions :

22,  9RA # faa TSuE R IR #1 FE S 27 |

(%) feeett (@) 7 (1) W (%) SR
Which city 1s called the financial capital of India ?
(a) Delh (b) Mumbai (¢) Patna (d) Banglore

23. AR ISR ASHT HI YESE FH Rl TE7 1
(=) 1980 (@) 1989 (1) 1988 (=1) 1983

When was the Jawahar Rojgar Yogana started ?
(a) 1980 (b) 1989 (c) 1988 (d) 1983

ey w20 vl H € -

Answer the following question in 20 words.

24, STHRE WeE Y wed #7 2
What is infrastructure ?

Tt wosit ot W 60 ViR W §

Answer the following questions in 60 words.

25. W= I §? 3
What is saving?

26. fova =R Hwed w1 #7 97 *w iR F@f wenfud fEan T 3
What is world trade organisation? Why and when was its established?

e goat =1 3w 120 v B R -

Answer the following questions in 120 words.

27.  HE & HWE N FUA HI 7

Describe the functions of money.



(23)

24.

25.

26.

(27)
(i)
(i1)

(ii1)

(iv)

(v)

(vi)

AYAl_(or
eI A6 ® TE wE F A
Describe the main functions of commercial banks.
I ( ANSWER)
(@) T
(@) 1989

ST ST 1 Aaerd 34 gfasnet den Garsii | g W 39 % onfefw fawm % fou @ e 71 3o
st fastelt, wfee, 99, S, e, Fioe, S 3R o 2

ST o ITANT T SHR T FHEA F1 TAS FI HA T ] a&gel qon fews awqeti W wd fww
ST 1 ES S 1 gE 9 W feks awgel W e fEa s € 99 9w wed 2

Tq9d = F — I

forger =R G UH UH AT e © fowe 3299 e SR # SeR A4 21 39 HSA Hi
T | Sa 1995 § 1 T2 92 GTeq et =R § Sefud frawi 1 fuifid s 21 98 g+t 2o
1 Heok AR 1 Gaen <o 2l

05 % W@ e fefeted § -
fafra =1 wregm- g1 fafma o1 @emm @1 gm0 %3 qon fawa <A § & geaee w1 & S 2

oo 1 99— 951 god 1 99 21 fRE 9w #1 R gea e, 9 gE gr @ e ?1 9w & 5|
FE # Fro faftmg w0 @A 8 T R

feretfaa qram &1 wF- nyfs gn § Sgd 9 ofYE FE SUR W e € SR SHE yaH ae 9 fw
ST €1 GET 7 SUR 2 A1 o ® HE ] HG! AEE S & B

e & Hod- A a9 1 ALIHAST 1 G0 Fd gC 9fasd & Aeavawast & fau ot #3 a=e
Tl =Edl Bl g H1 98 o @ fw 58 5w e @ W g 2

FI-VI T S~ o1 g i o safe TRt T T W Tt T deeRt fREt o1 M W
T wEta wlig g 2l

YRE 1 ER- Y51 WG & TR 1 HE i ¢ &6 g1 & 9 0 S/i- =5, U, IS S Jee
H e ® "l
79 YR U fafa= gHR # B w2

Agdr

SEEITF dH F THE FH e g

(1)

(i)

(iii)
(F)
(@)
(m
(=)

ST M i THER FEA- AGETE Shl F Gaifm Teequl w1 T TEH ¥ T ® ®9 H g 9w
FE T Fifh T F IR W R0 I 9 AW A H Th G G0 @ HW L

FOT TS FH- G Sk BT TE TIE@ FE AR Rl HOT GG B § Ak T SAEE FHEl g
FO 30§ qen SfEd SEEG AT wA

YO YA Heelt wE- oaaEtas S gme st weet w e o s g SS9

TE I TeHl H TE-97 T4 Il 9% ff 9w 2

d T e I wiw w1 g f geH w 2

ATM T8 ®fez %1€ 1 gfasn «f 9% & g7 we@ 1 o 21

o onfefw feafq @ ufifed &9 & FR0 =R Gast GEA U6 SHS THE i A0 ekl i fawia




HHEA T T 3

(iv) usHt Geefi wr- saeEfas S4 TEd S THE ® 9 § g1 i ¢ 6P Jaid S o, fae 9 g

1 Goho, TS TS A9 1 Gehord al faawor, =<1, 01 *i forea, 58 &1 fovsq 1 e seanfg framd
A 2

Group-E 3 (Marks ) : 6

28.

29

3T yaeT (DISASTER MANAGEMENT)
Freifera agfaeedta wodl & ¥ W& fawen o ¢

Choose the most appropriate options in the following multiple choice questions :

@ % fou foar w7 2 - 1

() @i H FH (@) TFd (M) =8 (=) seremgEr R
A factor responsible for drought.

(a) Low rainfall (b) Earthquake

(c) Flood (d)  Volcanic eruption

Y g A § we w) o S e = I
(F) R (@) e (1) =R (9) SR
What should be the structure of the building.

(a)  Oval Shape (b)  Tramgular shape

(c)  Square shape (d) Rectangular shape

e woet T 3T 3tfureRaw 60 vl W E :

Answer the following questions in maximum 60 words :

30.

(28)
(29)
(30)
(i)

(i)

(iii)
(iv)

A H T B FH B FH U TARC? 4
Answer the following question in 60 words.
IWT ( ANSWER )
(%) asi H FHH
(9) STIAERR
e F YUE F FH A U FreAfated § -
FERIIOT HT HET
e & <M RN A AeEa wE
&l e AR HE

WY AR w1 i s

(v) @ % 1 o HE



Group-A SET-IX 3% (Marks ) : 20

gfagt@ (HISTORY)
Freifera sgferercdta wot O | W&t fawen o -
Choose the most appropriate options in the following multiple choice questions :
1. fogoam foe ameTaEl ok & 99a § on? 1
(%) wH (@) et (1) &4 (%) g2t
Which imperalist power was dominated Vietnam?

(a) France (b) Germany (¢) Russia (d) Ttaly

2. TRl AME e T FEET H T Fd g2 I
(F) 1917 (@) 1925 (71) 1907 (%) 1911

When was the Tata Iron and Steel Company Established?

(a) 1917 (b)y 1925 (c) 1907 (d) 1911

wé i A R T R e

Fill in the blanks with appropriate words :

3. fova d% SR I=RIST T T HT T T ® BRI el 1
World Bank and I. MLF. was established by ..................... conference.

4. ST FER GHAEHT BT TBET covvrrrecerrrrnnnns 1 THAT TN |

Amrit Bazar Magzine was published by .......c.cocooviinin .

e woat a1 S sifereRaw 60 reRt W ¥ -

Answer the following questions in maximum 60 words :

5. fafeam-1 & <R SOt &1 T faes % fon s on $9? 3
It was impossible for Bismark to unity of Germany without Wilham-I. How?

6.  ANGE TLHE AR § AT TE 1 HE F aUE F 3
Describe the role of tribal group in Indian National movement.

7. wigfafa = 87 suat F SyEif €2 3
What is manuscript? What is its utilization?

T wot T e StfireRaw 120 wTeEl W €

Answer the following question in maximum 120 words.

8. UG & W g% AW H fREe & # wnw o9 7
What were the causes of decline in cotton textile industry of India.

AYAT (or)

aRd ¥ U % oy sfoem W uw feovft faw

Write a note on the primary history of Printing.



(i)
(ii)

(iii)

(iv)

(v)

37T (ANSWER)
3fag™@ (HISTORY)

(F) *g
(1) 1907

e I

Hrdterel =i

T ST T T TS T A1 TR S TS fafaan- 1 Tgart faaREm @ o 98 SHA & TR @
Yol EIER 91| 98 ST o1 TR SAEar S WiE ® USRI H qay 9E 911 21 1862 § Al % Ui

% 329a @ foamms it oo =iger frgaa fran famm 3 ‘@ iR o’ fif @1 steerem de S @
T g0 feE

IRA & T A= § S AT i Hewyul gfer ot 199 vl w1 @we 209 vl ¥ o w2
S TR gUl 198 |94 H SRAF | 81, wie, §A U qeT a5 g 1916 H &0 9Rd § 19
fagie gam 1917 ® el A iR AR & Hfwal 7 fagie fFam 1920 # <o § dianw w9 ® g o
o7y y2v ¥ fagie gul 209 9 # oRY H SREAMTR § WaU 9 F g H 2 W Ao Jelll 3
S ST 3 TS <o & fas| o e ameE &

ARG § SO & TR | Tedt 9o T @18 & T W e ° foen # @ T 99 we ot
79 ewfdied qrni i € wigfaty wed 2

wigfafy gan gasi & goio 9 1 E00 HeR ¥ YRA § FEhd, Ui, Wighd, Sl ao EIREr |
¥ sren wigfafial TR 1 ) T uigfafiEl % oo @ qoeniele sfer i S 9T g 2

1891 AT % A Tk ARG G G w1 UE UA ekl &i o ° [ fova # fawam om faeg 195t
YA F AT % WY g %S wRON @ zHE e o onfl, S 3W WehR B

IRA & G T SE % e 1 ged e w01 i Wi o ey g 9% 1 S 6% @l

fafeer @R o grofe fafda gt oedi @ 9Rdig 9K &1 e 7@ 3 9RdE 9ol & gEEe 95 9w
B 9

3 e FU1 98T GW I W U BHEET e 9 2t off | THE ardig 9% ftae w5 5= e
faer =5 & T

fofeer TR 7 9IRdE gt w98 W F 9wl gie w2 2N w21 fafew fHfHa e = g v afme w2
= F fEu)
FoA TR A faea FfHa gt Fuei i 97 H§ aeR STes =HE & fau 9RdE g wuer 6 w T
FH & fo % %29 39m)

argar (Or)

WA el § € 9Ra ® @ fofu SR ofed wen ¥ uifed 9 TR U9 U W Ao Sehiv siE

S e AT TE qg-TE W aed S fE S on 9% ¥ swattaa e & ot oen & fau sk ga

ARG § PUE F Sfe™ AN % EA % Wl YE e S 169 9E H qeA H e § qoed o

THRHT, g A HAYHH ST ST Hisho G § Tel e GEdwh! w1 BUE F1 T Feifen w7 e
T § Y&kl 1 TRRH fha1l 1674 T HIH0N TH Fg 96 F 50 GEIH| 61 THEH & FH1 A1 T 96 AR
F off ik qEaen! 1 GRRM {1 QU Q! & STemE fed #E IR ardel 9T H YR i T 3E TER
qRA H HZ01 1 URA AT g7 FEReR g fwar T



Group-B 3R ( Marks) : 20

TN (GEOGRAPHY)
Frerifera sgfaecdia wot § & W& fawen <4 -

Choose the most appropriate options in the following multiple choice questions :

9. o9 W& UF WEEH FI g W o i At e e 2 1
(%) 4o 4 (@) 3 = 4
(M) 5o H (%) ¥ 9 *E T
On the basis of forest conservation and Management forest are grouped into-
(a) 4 groups (b) 3 groups (c) 5 groups (d) None of these
10. o 7% w9 Fel feom 27 !
() SEEAR (@) TR (1) FR (%) g
Rail workshop 1s located at-
(a)  Jamalpur (b) Bhagalpur (¢) Munger (d) Patna
Fill in the blanks with appropriate words :
(1) 9 F F TEF THT B oo Ffa 21 |

Plantation agriculture 1s also a type of ................. agriculture.

(i) AT oo IS § gt B 1
Nagpur 1s related with .................... project.

faer wwelt ot IR srfereRam 60 vl H ¥

Answer the following questions in maximum 60 words :

12. oo s #= 82 3
What 1s Chipko Movement?

13.  fremifada Qw9 e w1 wHed 87 3
What do you mean by Triangulation Station?

14. 9Nd & =R Y@ T fEa R w1 3w w12 3

Describe the four important atomic power plants of India.
Tt wea o1 S stfereRan 120 vredl W ©
Answer the following question in maximum 120 words.

15. 9Ra H @ 39 % o &1 auE FHif? 7
Explain the distribution of Mineral Oil in India.
AYAT (or
T g8 W GRd F TEF T At aAR a1 FEAfafaa i smifed wam sifea Fifag -
(%) T AR = - TeaHR
(@) da IMEF FREF-HLYA
(1) el TEIE HREH-SHR
(%) a9 aa-femarg
(F) Fren &e-gren
or
Draw the outline map of India on full page and mark the following by shading :-
(a)  Atomic power plant-Rawatbhata
(b)  Oil refinary-Mathura
(c) Iron & Steel Industry-Bokaro
(d)  Crude Oil Region-Digboi
(e)  Coal region-Jharia
Rl
Fa TRM BE & Ay
e T sifeas @ie | S T H? 7

Differentiate between Metallic and Non metallic minerals.
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INDEX
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(9)
(10)
(1

(12)

(13)

(14)
(i)

(ii)

(iii)
(iv)
(15)

(1)

(ii)

(iii)

(iv)
(v)

2

(@ 33w+
() SHIETR
(i) =t
(i) wE=H

fauat sT=eH-sTE e % feed-Teare wEda e § X aa 9gion & g § ST SHsitadl gr
1972 § 92 SAfaled YRT g 911 M e § HE @ 3HER F1 Herrel § ei- o i wed
@ 38 TOM & AU o e ® W R SR F THET W FW o

e t@- gaea st w1 "eEdal 9 s=ueE yeyE %1 fafy = wdde 9 ™ 21 9w U A fafy
21 %A GHeT @Y gad W GUEa S Uk GOF SaEard fage/em #i fherest gefes ) i
STl FwedtT @ 21 39 tEnet w1 8% § v fRu U anafas gaa ® euR W EEr S 2l

IRd # 9N vqE A faen e fefatea g

TR AT foed 8- 9% g8 & fiehe arqe & wenfa foran o 21 39kt q&d Sevd SEm U 9
fasteft =M e e

T ] fod Te- 9 S Y F geiqwel & U feem R
FEHETIR Y] fogd 6~ g€ ToRE 9 § yRY fHRan m@ ?)
M W] fagd TE- T€ FAew T & SR faen § fem 2

Tiferm wfed & T WAl § waifus Heaqol U6 o €9 H STA Onee ) wRd ¥ g o
Tl I B F -

SH-T TRT- 98 39 1 GO WAl G SR &7 2| ST 1866 Fo H dei & o TRE TE H W off|
T & F HEqul Sk TeTElE, Tehidl, HitH, €SETR oK

TS 8- T & WU % Afee a1 TeE % 4eH ¥ foeqa €1 3He 4e SAR SiEava B
g T & I8 & g8 92 ¥ 176 fweidi [ sw-ufvaw feen # swa @R # e 21
T T2 WRe- TE FON-TEEd SR FE AfwA # 3fa qon gen % g &9 § ®orn gan 2
TSI AfEA- 39 Afg & Hien &9 ¥ foaat 2009 ¥ SOEA gE 8 T 2




Group-C 3R ( Marks) : 17

Tt fa@m™ (POLITICAL SCIENCE)
Proiifm sefameda o ¥ @ TR fawer o -
Choose the most appropriate options in the following multiple choice questions :
6. T o & &1 = & o 27 1
() A TEE W (@) T S A
(M) ARAE S e (F) T @ FE T
Which of the following is a regional party?
(a) Indian National Congress (b) Rashtriya Janta Dal
(¢) Bhartiya Janta Party (d) None of these

17. 9RG ® T 1977 3o H &0 99 ¥ &9 9E # 9gAa faen o 1
(%) S wEl (@) =g et (1) FFTE= Rl (=) fomm 5

Which party got the maximum vote m 1977 election of India.

(a) Janta Party (b) Congress Party (¢) Commumist Party (d) Shiv Sena
Tt gl @ ST 20 VR W @
Answer the following question in 20 words.
18, &FeTR ¥ 39 N FHIA 27 2

What do you mean by regionalism ?

Trerifera woal &1 3 50 It § <)

Answer the following questions in 50 words.

19. s wkad & fon sifaemy &1 #9? 3
How illiteracy 1s curse for democracy ?

20, TW W AA 2 3
What is Gram Raksha Dal?

1 woat @ s sifireanw 100 redl H E -

Answer the following question in maximum 100 words.

21.  TSHIfa®w o 1 @ 1 WO A FE S €2 7
Why political party 1s called 'Life of Democracy' ?

SAYEl (or

o TR # gEE e

Clarify the relationship between religion and politics.



18.

19.

20.

21.

I ( ANSWER )

TeHifa faF™ ( POLITICAL SCIENCE )

(@) U= SFar g
(F) @ Tt

gmas w1 o1ed TRt & fagiw o o, weepta, wefa @ SMYR WX ST gRI STerT YeeH Wi Wi o 2
FHi-Fft &ER 39 % A @aw 59 S 2l

AREN Siehas & foru safiemy 21 Afen & o A § USHiae da 1 SA9E S S S0 SAfEsmRt
o afa T=a & g1 et € T Fdeal o fded WEl 9 # 72 = g1 stfuifer < oo g
H oo quier A 3 U €1 SAfen Sad H A, SeE uE qeEias o W oA 2

T & T YEEd F Y@ S 2| 5 a1 gferm srawen ff FE1 S 21 eifd e & 18 a6 | 30
T & g ol TR ! HI AW T IA H W HA S 2| THRT YW eufa wir 21 sheht fgfe
TEHR GRS 1 SR Geawe T H T A q Wpfah SN b THA Herddl FIAl L

wierds § i o TR ST gr1 99 e wfaffat | wnfee w2 71 3 59 wfafaty et aoeifas e
% TS BN B Tod® USHITGe ] T SO Sfqerd il ¢l Skl STt ffvea sitae feaEmen #iR
Hifeal eIt 21 SH SUR T ST 59 gHedS Sl 2

TAE & A ST T ST JeAeh Tel i ¢ T SEGaR Sgad Sifde $ SWHR S
£ S =7 9EHa W Tl X UM 3 fouat w1 gfter f9R 1 S WEA B o= SR AR S # geenst
FI 330 T

Ager (Or)

et St 1 FHEA o1 o F Ao | ST T fRAr 51 whA 21 e St % AR o # eeE
feeren @ o fafvem AR W TsHifa w1 A godt @ Fefim g ifew Aok fade werifa o fie
T Ry B S ®1 39 % whedm % AU 7 sTevaw ® vl % o faewi, emewl w gt &
Terifa # wom fam s weifa § g oft Swn 9 v @ T Rl ad fasie & @i dgem @
e @ T fR = e 2



Group-D 3R ( Marks) : 17

3rf9TE (ECONOMICS)
Freifera sgfaecdta wot § & W& famwen <4 -

Choose the most appropriate options in the following multiple choice questions :

22, Trefafas § @ 9@ v & eweid B o 22 1
(%) =% (@) o gw (M) = W (%) 79 & ¥t
Which of the following comes under credit?

(@) Cheque (b) Bank Draft (¢) Travellers Cheque (d) None of these

23,  SwEA wg o o fafu et gfew | € i I
(%) W (@) () FFEEE (%) & & =

Production and income measurement method from economic point of view 1s:-
(a) Easy (b)  Scientific (¢) Practical (d) All of these
Fret wow o s 20 v W F -

Answer the following question in 20 words.

24, WEUEHE HEA SRR wed 87 2
Which is called Multi National Company?

e wwel a1 3w 60 Il W T

Answer the following questions in 60 words.

25.  wfy-wfa som fHd wed 22 3
What 1s Agrobased industries?

26. 9 #1 faxia weens i faad o § s T E2 9l 3

State Financial Institutions are divided into how many parts? Explain.
frer wost = seE 120 v W F
Answer the following questions in 120 words.

27. faem = onfefs fedw =1 R +¢ & fau -7 sy w0 =@ifew? 7

What steps should be taken to solve the problem of economic backwardness in Bihar?

AT (or
@ TEEd 99E 1 €7 39 At oret i e wyen frewd €2

What is Self Help Group? How do women play their role in these groups?



3 ( ANSWER )
(23) (&) =79 ¥ |t
(7) T8 9 gt

24, LU FEEA AT B S UK W A 90 H I W FEE 7wt w31 S8-wie e, duw,

25. U SEA S FT IeAEA W NfHa 7 A1 e Scared ® H &7 ¥ Foa 9w o 7, 39 Ffu S swm
FEd B AY-W W AR M, THR F AR T T IHMT G

26. T foxia geensH i S 9w # sier W e -

(i) R geomme foaedia geemd- s oia "enH, 93, 9RER, i, fwder ©& o= o €1 o «ft Tt
H B/ YSH FE A TIE AR G Hels| § HEifE T e oF W T "e 2

(ii) Hegrm fasdia geend- o strid Jewnl o, wefhs gesnt d@fufa, gft fawm =, smEartss 595,
it oo S, T T e e €

(27) faer = enfefs feew w1 Q6 % fow f=1 sum fF -1 9= 2-

(i) gEn W fE0- 9§ a5 9 9ed g2 smaed #i HEtE sy

(ii) Ffa * o @ fasprm- faer o Ffa € Sftaq &1 onur 2 safae S 9 734 56, 399 @R, 599 w9 @
g far sme @i 3w § gfs o = 9=

(iii) @@ W FEE- faEr & fawm o 9% T 9gd 91 auE ¢ [ wR TS e BEel % U S5 90
Taig B ST ¥ TR Fi =fen e fEfa

(iv) smenfen STe o fasmra- foaer o e o #i & 21 5o faew 9 € faer =1 fuseme
Tl

(v) S =1 fopm- faer & grEve 09 % 99 91 ° SO 1 e HE F4 8 T {1 S oS4 € o9
1 4t o= el I SN § 31 WK i e fF S sum-ae w92 € A wvomewen | € 3@ g
Ead

(vi) TR R FA- R § et @ & A e 42 9faen | eR-aW W OR ) 3R U9 91
S fe® et B 9

(vii) wifa =raeen =t Te- faer o wifd %1 2 wEH w0 ais @ ge W 8 T S

(viii) T q1 $AMER Jome- faer & onfels faswm & fou @@=, #3@ o HreR qomeE s 2

T4 YR faer & onfeis fusew i ¢ fmar o1 g 21

gdr

wE FETEdl 98 akad o HEr e ¥ 15-20 SAfEal (Tt afgerstl) &1 U S 9
T 1 S AR T A Sl Y RO AR AT T % IEn Sed F g0 w2

w@d TEEd G ¥ 15-20 9SH e ¢ S frafhd &9 9 fien € iR wwh wd g1 w A & et
% 9% 3R TE Faftd 9 @ 990 & € @ 9 qF ¥ RO W FE H A9 & S | R0 9 H
W W S € SR THE s §eE % oy SRS % S 1 gee el ¢ 3Ed A7 e
Hieed anfei T 9 wEemEt g S 2 afek gqe #1 FaEfra sew ® e ant w0 gmites o w
w1 T 1 e oft figeran 21 wfgend U T %01 % 5N sR-w s awt et A gean # e,
i ISt (s, @R onfs & o), = a e, foerd wefi=, sueten, wy) st weafa el & faw
FA T

T YHR W9 TEEd 998 & §N Ao I Sied # qeid STavasdietl wi Q0 w4 € aen
3T feoifa weet & e @ W 2




Group-E 3R (Marks) : 6

28.

29.

UST gsies (DISASTER MANAGEMENT)
Freifera agfamedta woi § ¥ Wt fawew =+ -

Choose the most appropriate options in the following multiple choice questions :

g g wH W e 22 1
(%) @@ (@) "9 (M) AR (%) T 9 FE T
Tsunami occurs at which place?

(a) Land (b) Ocean

(¢) Sky (d) None of these

T | ®F AEEE SR 2 |
(=) g (@) =T (1) SR (3) *Fd

Which of the following 1s Manmade disaster?

(a) Tsunami (b) Flood

(¢) Terrorism (d) Earthquake

=1 g9 &1 ST AfieRan 60 vt W €

Answer the following question in maximum 60 words :

30.

(28)
(29)
(30)
(1)
(i)
(iii)
(iv)

I%Y ¥ T99 & IUE T4 ? 4
What are the remedies applicable for earthquake.
37 ( ANSWER )
(&) W%
(1) AHA
JHY ¥ wuE & FrEfated s € -
THT AT
- fmoT
SF-H1 T GRET
gRTEE

(v) R o[ e & g



Group-A SET-X 3f& (Marks ) : 20

3fag™@ (HISTORY)
Frifena agfaeedia wol o & W& fawen o ¢

Choose the most appropriate options in the following multiple choice questions :

. wigH e e 99 St Eeeien e e g) T 1
(%) =g (@) efefn s (1) 7 o (T ¥ FE T
Which dynasty was established by Vienna Congress in Feance?

(a) Habsburg (b) Aurlia dynasty
(c) Bourbon dynasty (d) None of these

2. ‘mR vz 99’ e w2 1
(%) A AR (@) ZeqeE (M) «fE (=) wfes
Who wrote the "War and Peace'?

(a) Carl Marx (b)  Taulstoy (¢) Lenin (d) Stalin

W vt & faw e W uf

Fill in the blank with appropriate word :

3. ARG H Bl 2 T i o Terfua gaml 1
First Jute Mill in India was established in _......_..._..........

4. T R WA FOTER F I e e IR & T I
'Sardar' title was given to Vallabha Bhai Patel during .................. movement.

1 woat ot ST sifurehaw 60 IS B © ¢

Answer the following questions in maximum 60 words :

5. fem—=fm o widdt yor & avi =) 3
Describe the French expansion i Indo-China.

6. THEEmiET § 9 N WHAG €7 T HRG By yeid fw? 3
What do you mean by de-industrilization? How was India affected by 1t?

7. 9RdE YE w5 feRae w5 vl 3

Describe the characteristics of Indian Press.
T wwHt a1 SR sifersRan 120 vl W €
Answer the following question in maximum 120 words.
8. &t 72 enfefw Hfa =1 avl F: 7
Describe the 'New Economic Policy' of Lenin.
Y4l _(or
Sferraren an gmFs W feoht faw

Write a note on Jalianwala Bag Masacre.



(1)

(ii)
(iii)
8.
(i)

(ii)
(iii)
(iv)
(v)
(vi)

3TY (ANSWER)
(1) T&@ FW

(|) Jea=m
HAF
ARETEA

fe=-= ¥ widifgal & A &1 4 3399 ©9 TS fafew wufaai & s wfaeast &t w0 o
IR AR 7 I e feofa 3 widifedt w1 o= ©w wg@ 9 @ 1863 fo | wwitedn wi
iferd T a1 foran 1884 Zo H ST 1 St 7O WIHA &F AN 1893 W WH A qSIE W 3fER
F o =9 yor 209 T& % e a& 9equl feg 9 Wi & uqga § e

TU-TY WA % SRR F A w5 T wRen § 9 98 TWH W 9 Al 3 R SEm
1 T e HER S w1 gaa @ Frede 2

Tl 7 o FHREF § w1 e w1 fafa e aRa @ Fe 0 % S 1 A SO ge
R 1 A, qRdE g ® et w g iR e o e, awa § et fee, fafwe agget
% A 7 ARG SE A=
IR 99 Ft Frer fagivand € -

194 TSt % Yaig § HHHER-T 1 YER &5 FH o {5 o 3o ardiE § @A o etera sH, fafen
TR it Ao fifeE ® faes Smfa fw w § geeyet gftwr fad)

IR U9 % Weam g fafa= afis ud amifss gur sn<iert & 9a e

O 9Ra | foen & agren A enfuw fawm wd gfve s<em 1 giedtea R

AfE 1921 o # ww FE Aifa w1 wwon F1 3@ 72 e A 1 wpE A frafafem off -

fFaHl W AN # d950 TH [AfvEd # A WO A fREE S0 'Sl % STER ST &
Tehal ol

gifaw w9 9 ST 9 F1 E7 g F SAEeiitd dr W SHH R AifewE g e w1
20 FHAINEA § F9 ot e H Al T Y 9aH #1 sifuwr femm mm

e 1 fadsia & e o 3% ol ud wate a9t sifasr yem fFu )

SR i SgEn 3 % foau difra el O emta =i T

Sfam wd geafa #1 geen 29 T9EE S o IR T

(vii) S Fan 1 geq ToR W fawr fw e
(viii) 2T I F1 Aferd Seed qae F:1T TR

w1 =+ 9 enfefs ifa § w1 ) sreforaren § o< 21|
31t (Or)

fofeer TR 7 Fifdwrl Mfafat@l W= gy T & 3599 ¥ 1919 § Aele FMEA TG a1 39 FMT &
IER fdt =afam *i for garem =y sfvea fran 1 o 21 59 e wFF w1 SEdw fay ge
AR | o Tl o Tlo HFEA foheie] 7 TF =g o2 YauH 1 g okl 72 FRwR * forn
Tome H AR wmEE @ R T T e 13 d, 1919 1 S B & S WA &
Sferataren am | T fawe g 1 e o @ SR 2R | fRel fie ® nfaal @) @ w2
¥ gl =Afa WR M) T " At v gewie & AW ¥ W 2




Group-B 31eR ( Marks) : 20
(GEOGRAPHY
TreifeRa oy W | Wl T
Choose the most appropriate options in the following multiple choice questions :
9. W & dAnlf & fRET ‘9Ra #1 A FEr om 1
(%) weTe T (@) o Toi% Y8R
(m) dfed FEw (%) T faEsE=
Who called dams of the country as 'Temple of India'.
(a) Mahatma Gandhi (b) Dr. Rajendra Prasad

(c) Pandit Nehru (d) Swami Vivekanand

10. domE # 9fy Freeo = qe FR # 1
(F) A=A (@) BT B (M) fd TYER (=) ferk fo=mg
What is the most appropriate region for land degradation in Punjab.
(a)  Deforestation (b) Intensive agriculture (c) Over grazing (d) Owver irrigation

(11) @&t vregi ¥ figm @ & gfd &1

Fill in the blank with appropriate word :

(i) W 4 9RG H TIAARE FH F e Ffi wed 2 |
________________ 1$ the name given to shifting cultivation in Northeast India.

(ii) e T FTUT TE oo e 2 I
Iron and steel industry isa ........cc.......... industry.

1 wvst @ I sifenan 60 vl B

Answer the following questions in maximum 60 words :

12. wEIeYia RESE € o9 A gEe B2 3
gat do you understand by muitlpurpose project?

13 T 3 TR FL/ 3
Diifcrenttate between ferrous and non ferrous minerals.

14. TIF® 96 § 9 3 999 67 3

What do you mean by 'Spot Height'?
Torer woet o s sifirkam 120 vl W F
Answer the following question in maximum 120 words.
15. 9%d & Y@ a faga afEsmmed &1 avE w1l 7
Describe the important Hydroelectricity project in India.
Y91 _(or
T U2 W 9RA F TH W@ JHETTS IR0 a1 FAfateaa w eEifed AW sifwd #ifeg
(F) FEel §3-TAs (@) 9%
(m) 2 et () R weee (¥) =1 &5-3%m
or

Draw the outline map of India on full page and mark the following by shanding :

(a) Coal region-Raniganj (b) Chennai

(¢) New Delhi (d) Thar Desert (e) Tea region-Assam

Fad TFEE o % fo

Only for Blind Candidates: _ )

faer & =& =t ufEsmet w1 vl #X? 7

Describe the river valley projects m Bihar.






(9)
(10)
(1

(12)

(14)

(15)

(1)

(i)

(iii)

(iv)

(v)
(vi)

2

() tfed TEE

(%) efuss fo=m

(i) =@

(i) SRy

Tg3eEia ufEsT- s % fafay suam #t 3fie @ 9% T ufEe w5 Sgeseia afEse e €
T W ufEeE ot Fer S 2

wESeEa WA 1 g Sevd T, faed S, TS A, whed, Aeerdrer ® g &
Fg3eeia ofEe & foau afeal w e ™ A S i A 7w ¥ sy W # oAl
FE 2

(13) wtg =frs et et

(i) fo7 =fisl § o® %1 59 @ 9@ 2 o | () o wifasi § W@ @ sw =@ oW faewd
ITHT ITAT B TS TEUM AR H RN T2 Bl 2 9 sl @i wEar 21 99-
S 2, 9 diE e wEdar g1 S99 -wie- |, e, A9E senfgl

FIEH, IS, T
(i) ¥ WA, yw, wedwn s @ F 2R 2
(iii) ¥ WRR WA § 9@ W

(ii) @ #39% T ® T GHhd 2
(iii) o 9l yHR % weeAl 7 fa wwd €

T SuR- qa fog & gema o feet wom favm =) Al 7 SeE @ et S=E (Spot Height)
Fe1 w1 81 39 fafy § fagen & gr wmfe  fafa= womi &1 S den § faw G wmn 2

et W e 1 YA Vi A & w9 § A S @1 ¥ Sty S9ed & fon weefe a6 §
TR Wl 1 AR T AT F e, el w1 Al o, Wt Sel-W9e F1 A, el it g S
T T femried e § S R

9Rd & Y@ Sfagy afEsEe frefatea € -
qREEl- FTe IRASH- 72 aost T4 R IR F g9g 9L 9@ 2

T T IFESH- T8 IESE TEER TS F 9E 9% 9 gRES U8 ufvEd §e 6 99H & fau
o T e

FHIEt afESE- 3w feR #1 Afaem S T W e HH TR (A9re) | S s 2000 e fased
IqEA R =1 @ R

fie= afEsm- 99 # gems 19 feg W I Ry ¥ fawelt sanfsd #1 S 21
e IfEeH- meEdt W IS § fave #1 ged o |ty s fasel sard e s 2
Hael T8 ST T8 g9 A9 W owefud w1 T 2




Group-C 3R ( Marks) : 17

Trerita fa@™ (POLITICAL SCIENCE)
Freifera sgfaecdta wot § & W& famwen <4 -
Choose the most appropriate options in the following multiple choice questions :
16, elrhd & AR § qEd aen a @2 1
(%) had § e (@) s
(1) IS FEE (9) TSI S

What is main obstruction in the way of democracy?

(a)  Trust in democarcy (b) Illiteracy
(c)  Social equality (d) Political awareness

17. T wfeen smEm aAfafem fwg o =32 1
(F) 1990 (@) 1985 () 1965 (%1) 1995

When did National Women Commission Act formed?
(a) 1990 (b) 1985 (c) 1965 (d) 1995

et wgw = 3w 20 vl W F

Answer the following question in 20 words.

18. ufENaR #1 8? 2
What is nepotism?

Trerifera woal &1 3 50 It § <)

Answer the following questions in 50 words.

19. TA-a%d FEA 9 AT F GHIS €2 3
What do you understand by anti-defection law ?

20. nfers # FIWE! w1 GvE wL 3
Describe the bad effect of Castism.

e wvw ot I stfereRaw 100 vl W € -

Answer the following question in maximum 100 words.

21, ks e wR enfds dafs wd fawm °§ gems @ 22 7
How is the democarcy helpful in economic growth and development?

HAIHT (or

9Ra #t faunfaer & afeenstt & wfaffua =t w0 feafa 22

What 1s the status of women representation in Indian legislature?



3¢ ( ANSWER )
Trertta fa@™ ( POLITICAL SCIENCE )
16. (@) =Afvan
17. () 1990
18.  TSHITa® Tel Ud 3TF el g o9 g uRER ud Wi Hafuml w99 § SwieaR & ®9 ° foke
TRERER FEam 2

19. W9 *E s a1 SEufarry Rt o fanm & 9Ae fog W gHE Saa € iR a5 o R g <@ #
UEEIA U1 Al ¢ df 59 Soi-wgel el Sl gl

1985 %o H TSt et & v F@ H q@-awa fawdt sifufem dug F wf@ gem Tu dwifia
sifafm & ogar <-fieE 9eedl 9 #9 Ia-95a Al H1 G g9 g S
20. ffarE IR HES F UF GeAR ¥ TEH 9RGE 9N R frefafea guee e § -
(i) @A wfgenfed 6 FHegEr 9= F fawm
(ii) fafe= sifeai & &9 R sifavar @ gon = fawm)
(i) 3w # s wifama wgel & foiy & smfaa A ¥ uwar o srEved ® T
(iv) T =1 Hefaa SAfHd & FRU I F1 AEITSE TF SAfE yfa F anen

21. Al SAaE Hi Uil w1 gediw T Tgfs ud fawe % SR W e ¥ aEn fawe ga
FEFT F1 FR@N T & AR TR THHR AN qF TG S @ At sifermifie i shen oy sa
TH| AR ° s T w2 st g fuifa ek € S9- sden, snfeds werfierand, foen, enfefs
g "mitae frafa snfz) enfefs w9fs o 9aer & @+t we=i o, =1, sifd wd fan 1 3faa afafafua
AEYTF B

3ger (Or)

T W ) enelt e afeensd 21 W UoHifoE & § TS WA dwe wH 8| Qe S
T femelt o w3 & fou wfeensti w1 F#16T JoESes K1 U W@ S 9 ¥ 9uied w5 w5 % fa
Hfgensti 3 AT S TETd HI 21 TAG Y9 W g ° FE WA " 50% €@ afgenstt & § T
€ foreg wue # ool off 7% faer oteet g0 ©) SOHE wiehEe § wigen wfatiteEl s §Ed 59 21 98 Hel
qiasl # W& # 1% ¥ ff F9 2



Group-D

199 (ECONOMICS)

Freifera sgfaecdta wot § & W& famwen <4 -

Choose the most appropriate options in the following multiple choice questions :

2. Trefated § 9 59 frse o= e 9@ 2 2
(%) e (@) faen () feeedt
Which is called backward state in the following ?
(a) Pumjab (b) Bihar (¢) Delhi
23. WM HT YU H YSA H TETEH & fau fme fog w1 e smavas 87
(%) et AT (@) ISITr (1) TR
Which sign in necessary for determining the purity of gold jewellery?
(a) Hallmark (b) ISI Mark (¢) Agmark
et wwet T 3w 20 v W €

Answer the following question in 20 words.

24. TIE TEEG 9YE § N GEEN €7
What do you mean by Self Help Group?

et woat v S 60 Wil W € ¢

Answer the following questions in 60 words.

25. WG 1 E U 3 wall I Fand
What is credit and its different sides.

26. TAHM HE 1 ARG W FT SR UET?

What is the effect of present recession on India.

e wo @ 3w 120 Wl W @
Answer the following question in 120 words.
T Wit % UvEq ORGSR A FE SiR R sEvm o iy o wfufa %1 e fwan? 7

After the independence when and for what purposes the Indian govermnemt established the National

27.

Income Committee.

AT (or
UL @ FT IR F| TR A F ygE Gt FE-wE g9 22

Define National Income. What are the important methods of meassuring it?

3tk (Marks) : 17

(%) TR
(d) Gujrat
1

(%) =99 9@ & T

(d) None of these



(23)

24,

25.

(1)

(ii)
26.

(27)

(1)

(i)

(iii)

S¥¢ ( ANSWER )
(@) faer
(%) =fa a1
@Y el e T 9 H 15-20 Al Tt Afeensl 1 9YE € © Sl 9 S 9o Sl 9
oY HU AH A FEE F WA el B g F S
T 1 ored fovar 1 Wi ¥ ? ereiq HO AR A P O Hoamar § favam § g #)
@ | I U E E-
FURA- S I B
Folt- S RV W w@ L

FAUE G F1 GRA W SR FH ULl T FAIF qel H1 Y AR HET wora feofs § 21 @R 9wa
G Wi Hal & FIET HoEd €1 59 29 H1 STHRYd GOl HESR B % SR off 6 R
w9 A & FHk ARG F GUH 9 € 3R Tl # omem 67 wfowr wEen Ffu w@ § o gg 2

T Wid & 9% 9Nd TR A 3T, 1949 3o H To WoHto HETeMIfa™ i Tederdl § Uk UST 374
il 1 TS R ol 3HFT SE¥F ARG Ht UF 3 & G § STAE @l ol 39 |iAfd A4 o1
1951 ® oot gorm Ruid weqa =t off e 1948-49 & foU 391 %1 | T 7T 8,650 S T
AR TSI

fafa 3 o0 fUid 1954 o  wga &1 fomd 1950-1954 T &1 ULF T4 & Ak YR
e )

areran
forelt 391 # &t g gHaEty ® Scuifea v sifaw awgell @ Qast ® difkw gea % 46w U
A FEd 2
T A F FrEfated 99 fafE gr /oS § -

saafa o fafy- zm fafy & srofd 3o o ww ad § senfea sif<am axgert aen denetl =1 3 g9 9
o S € den S An 1 SAf<w SU9 A wel W 2

o oEr fafu- zw fafy + orala a<g e =t e & fow fafa= e o s wafaa qen
SEHIH SUHAT F G A AN g fRA S 2

SyH = fafu- @ fafa =i == fafa ot wer s 21 5 fafy % oEr 5 o 21 @ S99 W =
FI S 2 TeE T9d W 9 fafu ¥ i o Y o w0 % o sudieme Y e qun S "=
Y gt gl w1 el A 8

a9 29 A U g # moEn & forn safa wom fafy qen s womn fafy @ wam fwn
EInkS



Group-E 3R (Marks) : 6

UST gsies (DISASTER MANAGEMENT)
Freifera agfamedta woi § ¥ Wt fawew =+ -

Choose the most appropriate options in the following multiple choice questions :

28.  HEM/EET H AN wH HI feafa # w0 FEm =wu |
(F) A= s I3 FH JAH (@) =as-fagiEar amm
() SAF GHH T AR HEAT (%) T | I T

What should be done when fire breaks out in the house/village?

(a) call fire extinguisher (b) close doors and windows

(¢) wait till fire ends (d) None of these

29. Wo™ % A W g A w1 ua o % fou e 9w #t weg off St @2 |
(%) FEE (@) TS HH (1) efrRiex (%) HreEe
Which instrument helps mn finding out people under debris?
(a) Telescope (b) Infrared Camera
(¢) Helicopter (d) Mobile

T s o1 S sifirsRan 60 vl W T
Answer the following question in maximum 60 words :
30.  Sffad e STE{ETR WEER ¥ oMY A THE 87 4
What do you mean by life protective disaster management?
I ( ANSWER)
(28) (%) AfemH® FF H AN
(29) (@) THHE &

(30) STYRT FeEA I & WON H AN FE H N6 21 (i) SRR YT R (ii) R FEEA SR
FI S H 7E Siad W YEYH € ais el Yy 1 Sevd Guifad el & WHE R FH Hl
21 8% T & genfad o 1 emeer § frem e @ yq@ SE9a e ?1 ST STent YRR & Wi
MRS & STHIEF YEUH § STOH-STe YR H1 weAfgward gt €



